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CHEMISTRY

BOOKS - A2Z CHEMISTRY (HINGLISH)

SOME BASIC CONCEPTS OF CHEMISTRY

Daltons Theory Laws Of Chemical Cobination And Various Types Of

Masses

1. The isotopic abundance of C' — 12 and C — 14is98 % and 2 %
respectively. What would be the number of C' — 14 isotope in 12g
carbon sample?

A. (a)1.032 x 10?2

B. (b)1.20 x 10?2



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EhFHZsjtyK8l

C.(c)5.88 x 10%

D. (d)6.02 x 10%

Answer: B

o Watch Video Solution

2. An oxide of metal have 20 % oxygen. The eq.wt. of oxide is:

A. 32

B. 40

C.48

D. 52

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EhFHZsjtyK8l
https://dl.doubtnut.com/l/_yoddRsqrj2cY

3. 1.0 g of an oxide of A contained 0.5 g of A. 4.0 g of another

oxide of A contained 1.6 g of A. The data indicate the law of-

A. (a)Reciprocal proportions

B. (b)Constant proportions

C. (c)Conservation of energy

D. (d)Multiple proportions

Answer: D

° Watch Video Solution

4. Equivalent weight of carbon in CO and CO; are in the ratio

of:

A (a)l:1


https://dl.doubtnut.com/l/_yoddRsqrj2cY
https://dl.doubtnut.com/l/_Ojz4E5Vs6bWL
https://dl.doubtnut.com/l/_1b7FmUW7Vn3m

B.(b)1:2

C.(c)2:1

D.(d)1:4

Answer: C

o Watch Video Solution

5. Two oxides of a metal contain 50% and 40 % metal M

respectively. If the formula of the first oxide is MO, the formula

of the second oxide will be

A. (a)M02

B. (b)MO;

C.(c)M,0

D. (d)M, 05


https://dl.doubtnut.com/l/_1b7FmUW7Vn3m
https://dl.doubtnut.com/l/_ZAhjPkGmI288

Answer: B

o Watch Video Solution

6. In the following reaction:

3Fe + 4H,0O — Fe30O4 + 4H,, if the atomic weight of iron is 56

, then its equivalent weight will be

A. 42

B.21

C.63

D. 84

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ZAhjPkGmI288
https://dl.doubtnut.com/l/_F1Xm2dH0sfB3
https://dl.doubtnut.com/l/_iQ8DJkGxavMC

7. Among the following pairs of compounds, the one that

illustrates the law of multiple proportions is

A. (a)NH3 and NCI3

B.(b)H5S and SO,

C.(c)CuO and Cu,0O

D.(d)CS, and FeSO,

Answer: C

° Watch Video Solution

8. In an ionic compound moles ratio of cation to anion is 1: 2. If
atomic masses of metal and non-metal respectively are 138 and

19, then correct statement is


https://dl.doubtnut.com/l/_iQ8DJkGxavMC
https://dl.doubtnut.com/l/_SV6uo0JlbYLn

A. (a)molecular mass of compound is 176

B. (b)formula mass of compound is 176

C. (c )formula mass of compound is 157

D. (d)molecular mass of compound is 157

Answer: B

° Watch Video Solution

9. Two samples of lead oxide were separately reduced to metallic
lead by heating in a current of hydrogen. The weight of lead from
one oxide was half the weight of lead obtained from the other

oxide. The data illustrates

A. (a)Law of reciprocal proportions

B. (b)Law of constant proportions


https://dl.doubtnut.com/l/_SV6uo0JlbYLn
https://dl.doubtnut.com/l/_Axy0M77Nkgtt

C. (c )Law of multiple proportions

D. (d)Law of equivalent proportions

Answer: C

o Watch Video Solution

10.1f 1/6, in place of 1 /12, mass of carbon atom is taken to be
the relative atomic mass unit, the mass of one one of a
substance will:

A. (a)Decrease twice

B. (b)Increase two folds

C. (c )Remains unchanged

D. (d)Be a function of the molecular mass of element


https://dl.doubtnut.com/l/_Axy0M77Nkgtt
https://dl.doubtnut.com/l/_eDsnsAM1IFIB

Answer: C

o Watch Video Solution

11. When 10ml of propane (gas) is combusted completely, volume
of CO(g) obtained in similar condition is

A. (a)10ml

B. (b)20m!

C.(c)30ml

D. (d)40ml

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_eDsnsAM1IFIB
https://dl.doubtnut.com/l/_KufRv2C2JdD2

12. Two elements X and Y have atomic weight of 14 and 16. They
from a series of compounds A, B,C, D and E in which the
same amount of element X, Y is present in the ratio 1:2:3:4:5
. If the compound A has 28 parts by weight of X and 16 parts by
weight of Y, then the compound of C' will have 28 parts weight
of X and

A. (a)32 parts by weight of Y

B. (b)48 parts by weight of Y’

C.(c )64 parts by weight of Y

D. (d)80 parts by weight of Y’

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_65ad2Q5ZpcPQ

13. Iron forms two oxides, in first oxide 56 grams. Iron is found to

be combined with 16 grams oxygen and in second oxide 112

grams iron is found to be combined with 48 grams oxygen. This

data satisfy the law of

A. (a)Conservation of mass

B. (b)Reciprocal proportion

C. (c)Multiple proportion

D. (d)Combining volume

Answer: C

O Watch Video Solution

14. A sample of calcuium carbonate (CaCOj) has the following

percentage composition: Ca =40%,C =12%,0 = 48% If


https://dl.doubtnut.com/l/_vkranc2MzkYU
https://dl.doubtnut.com/l/_0ZjgcLnq9Q2S

the law of constant proportions is true. Then the weight of
calcium in 4g of a sample of calcium carbonate obtained from
another source will be

A. (a)0.016g

B. (b)0.10g

C.(c)l.6g

D. (d)16¢

Answer: C

o Watch Video Solution

15. ng of substance X reacts with mg of substance Y to from pg
of substance R and q g of substance S. This reaction can be

represented as, X +Y = R + S. The relation which can be


https://dl.doubtnut.com/l/_0ZjgcLnq9Q2S
https://dl.doubtnut.com/l/_fiGORGbvtXJy

established in the amounts of the reactants and the products

will be

A@n—m=p—gq

B.(b)n + m =p+q

C.(c)n=m

D.(d)p = ¢q

Answer: B

o Watch Video Solution

16. Which of the following is the best example of law of

conservation of mass

A. (a)12g of carbon combines with 32g of oxygen to from 44g

of 002


https://dl.doubtnut.com/l/_fiGORGbvtXJy
https://dl.doubtnut.com/l/_PxYz4IVm6DdU

B. (b)When 12g of carbon is heated in a vacuum there is no

change in mass

C.(c )A sample of air increase in volume when heated at

constant pressure but its mass remains unaltered

D. (d)The weight of a piece of platinum is the same before and

after heating in air

Answer: A

o Watch Video Solution

17. There are two common oxides of sulphur, one of which
contains 50 % O, by weight, the other almost exactly 60 % . The
weight of sulphur which combine with 1g of O, (fixed) are in the

ratio of


https://dl.doubtnut.com/l/_PxYz4IVm6DdU
https://dl.doubtnut.com/l/_Dea5B603Es5k

A (a)l:1

B.(b)2:1

C.(c)2:3

D. (d)3:2

Answer: D

° Watch Video Solution

18. In compound A, 1.00g nitrogen units with 0.57g oxygen. In
compound B, 2.00g nitrogen combines with 2.24g oxygen. In
compound C, 3.00g nitrogen combines with 5.11g oxygen. These

results obey the following law

A. (a)Law of constant proportion

B. (b)Law of multiple proportion



https://dl.doubtnut.com/l/_Dea5B603Es5k
https://dl.doubtnut.com/l/_2amRRpfgihiG

C. (c )Law of reciprocal proportion

D. (d)Dalton's Law of partial pressure

Answer: B

o Watch Video Solution

19. Hydrogen combines with oxygen with oxygen to form H5O in
which 16g of oxygen combine with 2g of hydrogen. Hydrogen
also combines with carbon to form CH, in which 2g of hydrogen
combine with 6g of carbon. If carbon and oxygen combine

togather then they will do show in the ratio of

A.(a)6:16 or 12: 32

B.(b)6:18

C.(c)l:2


https://dl.doubtnut.com/l/_2amRRpfgihiG
https://dl.doubtnut.com/l/_9XB1FnhfATPp

D.(d)12:24

Answer: A

° Watch Video Solution

20. 2g hydrogen combine with 16g of oxygen to from water and

with 6g of carbon to form methane. In carbon dioxide 12h of

carbon are combined with 32g of oxygen. These figures illustrate

the law of

A. (a)Multiple proportions

B. (b)Constant proportions

C. (c )Reciprocal proportions

D. (d)Conservation of mass

Answer: C


https://dl.doubtnut.com/l/_9XB1FnhfATPp
https://dl.doubtnut.com/l/_pfZkXUuONRf7

° Watch Video Solution

21. An element forms two oxides containing respectively 53.33

and 36.36 percent of oxygen. These figures illustrate the law of

A. (a)Conservation of mass

B. (b)Constant proportions

C. (c )Reciprocal proportions

D. (d)Multiple proportions

Answer: D

o Watch Video Solution

22. A sample of pure carbon dioxide, irrespective of its source

contains 27.27 % carbon and 72.73 % oxygen. The data support


https://dl.doubtnut.com/l/_pfZkXUuONRf7
https://dl.doubtnut.com/l/_yHuYdKVz4ZLw
https://dl.doubtnut.com/l/_RV89DgTk25aN

A. (a)Law of constant composition

B. (b)Law of conservation of mass

C. (c )Law of reciprocal proportions

D. (d)Law of multiple proportions

Answer: A

° Watch Video Solution

23. Which one of the following pairs of compound illustrates the

law of multiple proportion

A.(a)H50, Na,O

B. (b)MgO, NasO

C.(c)NayO, BaO

D. (d)SnC1,, SnC1,


https://dl.doubtnut.com/l/_RV89DgTk25aN
https://dl.doubtnut.com/l/_DUu6COq1ONl3

Answer: D

o Watch Video Solution

24.1 amu is equal to

1
A — —
12 mass of C' — 12

1
B. ﬁmass of O — 16
C.1 gof H,

D.1.6 x 10~ 2kg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DUu6COq1ONl3
https://dl.doubtnut.com/l/_xzDG4vge6Olo

25. Sulphur forms the chlorides S;Cly and SCl,. The equivalent
mass of sulphur in SCI, is

A.(a)8g /mol

B. (b)16g / mol

C.(c)64.8g/mol

D. (d)32g /mol

Answer: B

° Watch Video Solution

26. The sulphate of a metal M contains 9.87% of M, This
sulphate is isomorphous with ZnS0,.7H,0. The atomic weight

of M is


https://dl.doubtnut.com/l/_LlegNPC44HX2
https://dl.doubtnut.com/l/_oyUSVgNadlZY

A. (2)40.3

B. (b)36.3

C.(c)24.3

D.(d)11.3

Answer: C

° Watch Video Solution

27.In chemical scale, the relative mass of the isotopic mixture of
oxygen atoms (016, oY, 018) is assumed to be equal to

A. (a)16.002

B. (b)16.00

C.(c)17.00

D. (d)11.00


https://dl.doubtnut.com/l/_oyUSVgNadlZY
https://dl.doubtnut.com/l/_V3QTy8n8vpxI

Answer: B

o Watch Video Solution

28. Boron has two stable isotopes, °B(19 % ) and 'B(81 % ).
The atomic mass that should appear for boron in the periodic
table is

A.10.8

B.10.2

C.11.2

D. 10.0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_V3QTy8n8vpxI
https://dl.doubtnut.com/l/_i4KeQB86ESdN
https://dl.doubtnut.com/l/_GA4tYm0qloqr

29. 74.5g of a metallic chloride contain 35.5g of chlorine. The

equivalent weight of the metal is

A. (a)19.5

B. (b)35.5

C.(0)39.0

D.(d)78.0

Answer: C

° Watch Video Solution

30. Equivalent weight of crystalline oxalic acid is

A. (a)30

B. (b)63


https://dl.doubtnut.com/l/_GA4tYm0qloqr
https://dl.doubtnut.com/l/_74FVLtUTeNQZ

C. ()33

D. (d)45

Answer: B

o Watch Video Solution

31. The equivelent weight of an element is 4. Its chloride has a

V. D59.25. Then the valency of the element is

A (a)4

B. (b)3

C.(c)2

D. (d)1

Answer: B



https://dl.doubtnut.com/l/_74FVLtUTeNQZ
https://dl.doubtnut.com/l/_ul7draQJlIue

| ' Watch Video Solution |

32. The oxide of a metal has 32 % oxygen. Its equivalent weight

would be

A. (a)34

B. (b)32

C.(c)17

D. (d)8

Answer: C

° Watch Video Solution

33.1.520g of the hydroxide of a metal on ignition gave 0.995g of

oxide. The equivalent weight of metal is


https://dl.doubtnut.com/l/_ul7draQJlIue
https://dl.doubtnut.com/l/_P80yDeMh0AWH
https://dl.doubtnut.com/l/_HnnbBmDaVlay

A. (2)1.520

B. (b)0.995

C.(c)19.00

D. (d)9.00

Answer: D

° Watch Video Solution

34. The specific heat of a metal os 0.16 its approximate atomic

weight would be

A. (a)32

B.(b)16

C.(c)40

D. (d)64


https://dl.doubtnut.com/l/_HnnbBmDaVlay
https://dl.doubtnut.com/l/_kXPIS7fZot5H

Answer: C

o Watch Video Solution

35. Vapour density of a metal chloride is 6.6. Its oxide contains

53 % metal. The atomic weight of metal is:

A (a)21

B. (b)54

C.(c)27.06

D. (d)2.086

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kXPIS7fZot5H
https://dl.doubtnut.com/l/_c7uehAWmligU

36. The molecular weight of a gas is 45. Its density at STP is

A (a)22.4

B. (b)11.2

C.(c)5.7

D. (d)2.0

Answer: D

o Watch Video Solution

37. Equivalent weight of a bivalent metal is 37.2. The molecular

weight of its chloride is

A. (a)412.2

B. (b)216


https://dl.doubtnut.com/l/_NvNrp557EocI
https://dl.doubtnut.com/l/_OY7YVvQMUzhg

C.(c)145.4

D. (d)108.2

Answer: C

o Watch Video Solution

38. On reduction with hydrogen, 3.6g of an oxide of matel left
3.2g of metal. If the vapour density of metal is 32, the simplest
formula of the oxide would be

A.(aMO

B. (b)M505

C. (C )M2O

D. (d)M,Ox


https://dl.doubtnut.com/l/_OY7YVvQMUzhg
https://dl.doubtnut.com/l/_CrigiSPfQSaO

Answer: C

o Watch Video Solution

39. The percentage of oxygen in NaOH is

A. ()40

B. (b)60

C.(c)8

D. (d)10

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CrigiSPfQSaO
https://dl.doubtnut.com/l/_lHAumjynEQEL

40. A compound (80g) on analysis gave

C = 249, H = 4g, O = 32g. Its empirical formula is

B. CQHQO

C. CH202

D.CH,0

Answer: D

° Watch Video Solution

41. The empirical formula of a compound is CH50. 0.0835 moles
of the compound contains 1.0g of hydrogen Molecular formula

of the compound is


https://dl.doubtnut.com/l/_ZmRlfJsadDwR
https://dl.doubtnut.com/l/_cFdYYhruRUgR

A. (a)C2H1206

B. (b)C5H1¢Os

C. (C )C4H808

D. (d)C3HO3

Answer: A

° Watch Video Solution

42. The empirical formula of an acid is CH,0,, the probable

molecular formula of acid may be

A. (a)C’H2O

B. (b)CH,0,

C. (C )CQH402

D.(d)C3HO,


https://dl.doubtnut.com/l/_cFdYYhruRUgR
https://dl.doubtnut.com/l/_A42NupZwxMx2

Answer: B

o Watch Video Solution

43. In which of the following pairs of compounds the ratio of

C, H and O is same

A. (a)Acetic acid and methyl alcohol

B. (b)Glucose and acetic acid

C.(c )Fructose and sucrose

D. (d)All of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A42NupZwxMx2
https://dl.doubtnut.com/l/_IZtYtFvKDVpb

44. Given that the abundacne of isotopes 54 Fe, 5% Fe, and
T Fe is 5%, 90% and 5% respectively. The atomic mass of Fe is
A.(a)b5.85
B. (b)55.95
C.(c)55.75

D. (d)55.05

Answer: B

° Watch Video Solution

45. Approximate atomic weight of an element is 26.89. If its
equivalent weight is 8.9, the exact atomic weight of element

would be


https://dl.doubtnut.com/l/_LvWIJCZ1aOu1
https://dl.doubtnut.com/l/_oALr6mxm8GGR

A. 26.89

B.8.9

C.17.8

D. 26.7

Answer: D

° Watch Video Solution

46. Irrespective of the source, pure sample of water always yields
88.89 % mass of oxygen and 11.11 % mass of hydrogen. This is
explained by the law of

A. (a)Conservation of mass

B. (b)Constant composition

C. (c)Multiple proportions


https://dl.doubtnut.com/l/_oALr6mxm8GGR
https://dl.doubtnut.com/l/_xL8dRSVYu53f

D. (d)Constant volume

Answer: B

° Watch Video Solution

47. Zinc sulphate contains 22.65 % of zinc and 43.9 % of water
of crystallization. If the law of constant proportions is true, then
the the weight of zinc required to produce 20g of the crystals will
be

A. (a)45.3¢g

B. (b)4.53¢g

C.(c)0.453¢g

D. (d)453¢

Answer: B


https://dl.doubtnut.com/l/_xL8dRSVYu53f
https://dl.doubtnut.com/l/_YTPKRw5FbV7u

o Watch Video Solution

Mole Concept Empirical Formula And Molecular Formula

1.1 mol of CH, contains

A. (a)6.02 x 10?% atoms of H
B. (b)4g atom of Hydrogen
C.(c)1.81 x 10%® molecules of CH,

D. (d)3.0g of carbon

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YTPKRw5FbV7u
https://dl.doubtnut.com/l/_j8lC1Oh50w7i

2. 20g of an acid furnishes 0.5 mole of H30 ™" ions in its aqueous
solution. The value of 1 equivalent of the acid will be:

A.40g

B. 20g

C. 10g

D.100g

Answer: A

o Watch Video Solution

3.The largest number of molecules in

A. (a)36g of water

B. (b)28¢g of carbon monoxide


https://dl.doubtnut.com/l/_5MeuMC2S9xZi
https://dl.doubtnut.com/l/_j1SD1wrROksK

C. (c)46g of ethyl alcohol

D. (d)54g of nitrogen pentoxide

Answer: A

o Watch Video Solution

4. An ion is reduced to the element when it absorbs 6 x 10%°

electrons. The number of equivalents of the ion is:

A 0.1

B.0.01

C.0.001

D. 0.0001

Answer: C



https://dl.doubtnut.com/l/_j1SD1wrROksK
https://dl.doubtnut.com/l/_zSV7Rd5qdqDW

| ¥ Watch Video Solution |

5. The total number of electrons in one molecule of carbon

dioxide is

A. 22

B.44

C.66

D. 88

Answer: A

° Watch Video Solution

6. 510mg of liquid on vaporization in Victor Meyer's apparatus

displaces 67.2ecm? of at (STP). The molecular weight of the liquid


https://dl.doubtnut.com/l/_zSV7Rd5qdqDW
https://dl.doubtnut.com/l/_TuyTaMYd3Wol
https://dl.doubtnut.com/l/_Nt3JoolHpL62

A. (a)130

B. (b)17

C.(c)170

D. (d)1700

Answer: C

° Watch Video Solution

7.Number of atoms in 558.5 g Fe(at. wt.55.85) is:

A. (a)Twice that in 60g carbon
B. (b)6.023 x 10?2

C.(c)Half in 8g He


https://dl.doubtnut.com/l/_Nt3JoolHpL62
https://dl.doubtnut.com/l/_u62Mmvfgqqxo

D. (d)558.5 x 6.023 x 10%

Answer: A

o Watch Video Solution

8.7.5 grams of a gas occupy 5.8 litres of volume at STP the gas is

A. (a)NO

B. (b) N>, O

C.(c)CO

D. (d)CO,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_u62Mmvfgqqxo
https://dl.doubtnut.com/l/_rPXaO3ba6f3d
https://dl.doubtnut.com/l/_Q1bcacIr2b5d

9. In a compound C, H, N atoms are present in 9:1:3.5 by

weight. Molecular weight of compound is 108. Its molecular
formula is:

A (8)02H6N2

B.(b)CsHyN

C. (C )CﬁHgNz

D. (d)Cy H 5 N

Answer: C

o Watch Video Solution

10. A given sample of pure compound contains 9.81g of Zn,
1.8 x 10?* atoms of chromium, and 0.60 mol of oxygen atoms.

What is the simplest formula?


https://dl.doubtnut.com/l/_Q1bcacIr2b5d
https://dl.doubtnut.com/l/_tqyF4GPhFwEQ

A. (a)ZnCr2 07

B. (b)Z’I’LC’f‘204

C.(c)ZnCr0Oy,

D. (d)ZnCrOy

Answer: B

° Watch Video Solution

11. A compound was found to contain nitrogen and oxygen in the

ratio 28g and 80g respectively. The formula of compound is

A.(a)NO

B. (b)N,O;

C. (c )N, O

D. (d)N,O,


https://dl.doubtnut.com/l/_tqyF4GPhFwEQ
https://dl.doubtnut.com/l/_jWLRgHU65Q3T

Answer: C

o Watch Video Solution

12. Four one litre flask are separately filled with the gases
H,, He, OyandO;3 at the same temperature and pressure. The
ratio of total number of atoms of these gases present in
different flask would be:

A(a)l:1:1:1

B.(b)1:2:2:3

C.(c)2:1:2:3

D.(d)3:2:2:1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jWLRgHU65Q3T
https://dl.doubtnut.com/l/_PHeSedLVBnzq

13. The number of atoms in 4.25gN H3 is approximately:

A1 x 10%

B.2 x 10%3

C.4 x 10%

D.6 x 10%

Answer: D

° Watch Video Solution

14. How many mole of magnesium phosphate Mgs(POy), will

contain 0.25mole of oxygen atoms?

A (a)2.5 x 102


https://dl.doubtnut.com/l/_PHeSedLVBnzq
https://dl.doubtnut.com/l/_UmiduNLZS2Pr
https://dl.doubtnut.com/l/_BjiMPjaPsiJg

B. (b)0.02
C.(c)3.125 x 102

D. (d)1.25 x 102

Answer: C

° Watch Video Solution

15. At room temperature ratio of pressures of CH,; and CO,
kept in two separate containers of equal volume is 3: 5. Then two
containers have equal number of-

A. (a)moles

B. (b)electrons

C. (c)atoms

D. (d)molecules


https://dl.doubtnut.com/l/_BjiMPjaPsiJg
https://dl.doubtnut.com/l/_8A8L7q613P2d

Answer: C

o Watch Video Solution

16. One litre of a gas at STP weight 1.16 g it can possible be

A (a)CyH,

B. (b)CO

C. (C )02

D.(d)CH,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8A8L7q613P2d
https://dl.doubtnut.com/l/_DqNsuRyuqMhm

17. A gases mixture contains oxygen and nitrogen in the ratio 1: 4

by weight. Therefore, the ratio of the number of molecules is:

A (a)l:4

B. (b)1:8

C.(c)7:32

D. (d)3:16

Answer: C

o Watch Video Solution

18. The vapour density of a gas is 11.2. The volume occupied by

11.2 g of the gas at STP will be

A 12L


https://dl.doubtnut.com/l/_VhaXO27YelNf
https://dl.doubtnut.com/l/_5uHvFM36yuLf

B.224 L

C1L

D.4481L

Answer: A

° Watch Video Solution

19. Under the same conditions, two gases have the same number
of molecules. They must

A. (a)be noble gases

B. (b)have equal volume

C. (¢ )have a volume of 22.4dm? each

D. (d)have an equal number of atoms


https://dl.doubtnut.com/l/_5uHvFM36yuLf
https://dl.doubtnut.com/l/_yPpeMiCgZgy7

Answer: B

o Watch Video Solution

20. The mass of a molecule of water is

A.3 x 10 kg
B.3 x 10 kg
C.1.5 x 10~ kg

D.2.5 x 10~ *kg

Answer: A

o Watch Video Solution

21.1.24 g Pis presentin22g


https://dl.doubtnut.com/l/_yPpeMiCgZgy7
https://dl.doubtnut.com/l/_wjy34r7JgXRZ
https://dl.doubtnut.com/l/_asLHbk9o4l3x

A (a)P453

B. (b) P55,

C.(c)PS,

D. (d) P, Sy

Answer: A

° Watch Video Solution

22. A gaseous mixture contain CH4 and CsHjg in equimolecular

proportion. The weight of 2.24 litres of this mixture at NTP is

A (a)46g

B.(b)23 g

C.(c)eg

D.(d)23 g


https://dl.doubtnut.com/l/_asLHbk9o4l3x
https://dl.doubtnut.com/l/_GnVGCsxw0gpa

Answer: B

o Watch Video Solution

23. Assuming fully decomposed, the volume of C'O, released at

STP on heating 9.85 g of BaC O3 (Atomic mass of Ba=137) will be

A. (a)0.84L

B. (b)2.24L

C.(c)4.06L

D. (d)1.12L

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GnVGCsxw0gpa
https://dl.doubtnut.com/l/_gz5ZNFcUqwZf

24. A gaseous hydrocarbon gives upon combustion, 0.72 g of

water and 3.08 g of CO,. The empirical formula of the

hydrocarbon is

A. (a)C2H4
B. (b)CsH,
C.(c)CsHs

D. (d)C, Hy

Answer: D

o Watch Video Solution

25. How many moles of electrons weigh one kilogram?

A. (a)6.023 x 10?3


https://dl.doubtnut.com/l/_fwaH2Ir1ApX7
https://dl.doubtnut.com/l/_RR6thhOz2nrX

B. (b) x 10?3

9.108

6.023

54
9108 < 10

C.(c)

1
. 108
D) 9708 x6.023 < 1°

Answer: D

° Watch Video Solution

26. Which of the following has the maximum number of atoms?

A.(a)24 gofC(12)
B. (b)56 g ofF'e(56)
C.(c)27 gofo Al(27)

D.(d)108 g of Ag(108)

Answer: A

[ -


https://dl.doubtnut.com/l/_RR6thhOz2nrX
https://dl.doubtnut.com/l/_QXuBS8tog4Vo

| ) Watch Video Solution

27.1f N4 is Avogadro's number then number of valence electrons

in 4.2 g of nitride ions (N?’_)

A (a)2.4N 4
B. (b)4.2N
C.(c)1.6Ny

D. (d)3.2V,

Answer: A

o Watch Video Solution

28. How many gram ions of 504_2 are present in 1 gram molecule

OszSO4. Alz(SO4)324H2O?


https://dl.doubtnut.com/l/_QXuBS8tog4Vo
https://dl.doubtnut.com/l/_Wdo2Fo5aa3OK
https://dl.doubtnut.com/l/_JtvxkzTSisoR

A. (a)2

B. (b)3

C.(c)

D.(d)4

Answer: D

° Watch Video Solution

29.The weight of 1 X 10?2 molecules of CuSO4.5H,0 is

A.4159 g
B.4159g
C.4159 g

D. None of these


https://dl.doubtnut.com/l/_JtvxkzTSisoR
https://dl.doubtnut.com/l/_7N8f7x5XAsA5

Answer: C

o Watch Video Solution

30. Arrange the following in order of increasing masses.
i. 1 molecules of oxygen ii. 1 atom of nitrogen
iii. 1 mol of water iv. 1 x 10 1% of iron
a. i, i, iii, iv b. i, ii, iv, iii
C. ii, i, iv, iii d. i, i, iii, iv
A. (@)Ut 1t 1t v
B. (b)IVIt It NIt |

C. (cHult it 1t v

D. (d)IIIt VIt 1t 11

Answer: A

[ o


https://dl.doubtnut.com/l/_7N8f7x5XAsA5
https://dl.doubtnut.com/l/_VprPJyFT7Eq8

| & Watch Video Solution

31. The vapour density of a gas A is twice that of a gas B. If the

molecular weight of B is M, the molecular weight of A will be:

A (a)M

B. (b)2M

C.(c)3M

D. (d)M/2

Answer: B

° Watch Video Solution

32. The charge in coulombs on 1g ion of N3~ is


https://dl.doubtnut.com/l/_VprPJyFT7Eq8
https://dl.doubtnut.com/l/_kI9ZQpGmcewX
https://dl.doubtnut.com/l/_fiv165WjIozA

A (a)5.2 x 10°C
B. (b)2.894 x 10°C
C.(c)6.6 x 10°C

D.(d)8.2 x 106C

Answer: B

° Watch Video Solution

33. Ratio of C, and C), of a gas X is 14, the number of atom of
the gas 'X' present in 11.2 litres of it at NTP will be

A.(a)6.02 x 107

B. (b)1.2 x 10%

C.(c)3.01 x 10%

D. (d)2.01 x 10%


https://dl.doubtnut.com/l/_fiv165WjIozA
https://dl.doubtnut.com/l/_FCgEfUz1k7Kt

Answer: A

o Watch Video Solution

34.The weight of a molecule of the compoundCyyH19 is

A.(a)l.4 x 10~ 2lg
B.(b)1.09 x 10~ g
C.(c)5.025 x 10%¢

D. (d)16.023 x 10%%g

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FCgEfUz1k7Kt
https://dl.doubtnut.com/l/_elkT9RvYYNCP

35. The atomic weights of two alements A and B are 40 and 80

reapectively. If x g of A contains y atoms, how many atoms are

present in 2x g of B?

A (a)%

B. (b)%

C.(c)y

D. (d)2y

Answer: C

o Watch Video Solution

36. If the density of water is 1 g ¢m ~2 then the volume occupied

by one molecule of water is approximately


https://dl.doubtnut.com/l/_EeoCYOHavPfp
https://dl.doubtnut.com/l/_6D4kTdaOTmjL

A. (a)18cm?®
B. (b)22400cm®
C.(c)6.02 x 10~ 2em?

D. (d)3.0 x 10~ 22cm?®

Answer: D

° Watch Video Solution

37. Caffeine has a molecular weight of 194. If it contains 28.9 % by

mass of nitrogen, number of atoms of nitrogen in one molecule

of caffeine is

A (a)4

B.(b)6

C.(c)2


https://dl.doubtnut.com/l/_6D4kTdaOTmjL
https://dl.doubtnut.com/l/_bLNiPgfXuJJO

D. (d)3

Answer: A

o Watch Video Solution

38. A 400 mg iron capsule contains 100 mg of ferrous fumarate,
(CHCOO),Fe. The percentage of iron present in it is
approximately

A. (a)33%

B. (b)25%

C.(c)14%

D. (d)8%

Answer: D

| o Wabkll. \tdaa ol aa



https://dl.doubtnut.com/l/_bLNiPgfXuJJO
https://dl.doubtnut.com/l/_oUYg8h6tRVkr
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39. Volume of a gas at STP is 1.12 x 10~ 7 ¢ c. Calculate the
number of molecules in it

A.(a)3.01 x 10%

B. (b)3.0 x 10!

C.(c)3.01 x 10%

D. (d)3.0 x 10%*

Answer: B

o Watch Video Solution

40.The number of electrons in a mole of hydrogen molecule is

A. (a)6.02 x 10?3


https://dl.doubtnut.com/l/_oUYg8h6tRVkr
https://dl.doubtnut.com/l/_vRnVHlRWFH02
https://dl.doubtnut.com/l/_SXX1Bv0NoFhF

B. (b)12.046 x 10%
C.(c)3.0115 x 10?

D. (d)Indefinite

Answer: A

° Watch Video Solution

41. The number of moles of BaC'O3 which contains 1.5 moles of
oxygen atoms is

A.(a)0.5

B. (b)1

C.(c)3

D. (d)6.02 x 10%


https://dl.doubtnut.com/l/_SXX1Bv0NoFhF
https://dl.doubtnut.com/l/_9k1uaBWfSGUz

Answer: A

o Watch Video Solution

42. The total number of gram-molecules of SO,Cl5 in 13.5 g of

sulphuryl chloride is

A.(a)01

B.(b)0.2

C.(c)o3

D.(d)0.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9k1uaBWfSGUz
https://dl.doubtnut.com/l/_t87itb7Gcbdy

43. How many atoms are comtained in one mole of sucrose
(C12H29011)17

A. (a)45 x 6.02 x 1023at0ms/m01e

B. (b)5 x 6.62 x 10*atoms /mole

C.(c)5 x 6.02 x 1023at0ms/mole

D. (d)None of these

Answer: A

O Watch Video Solution

44. Haemoglobin contains 0.33% of iron by weight. The molecular
weight of heamoglobin is approximately 67200. The number of
iron atoms (At. Wt. of Fe=56) present in one molecule of

haemoglobin is


https://dl.doubtnut.com/l/_89yksiAXQC6S
https://dl.doubtnut.com/l/_op98avMQZTKy

A (a)6

B. (b)1

C.(c)4

D. (d)2

Answer: C

o Watch Video Solution

45. What is the % of H,O in Fe(CNS),.3H,0?

A. (a)45
B. (b)30
C.(c)19

D. (d)25


https://dl.doubtnut.com/l/_op98avMQZTKy
https://dl.doubtnut.com/l/_ZQNC7EUsgBDr

Answer: C

o Watch Video Solution

46. A hydrocarbon contain 86% carbon, 488 ml of the

hydrocarbon weight 1.68 g at STP. Then the hydrocarbon is an

A. (a)Alkane

B. (b)Alkene

C. (c )Alkyne

D. (d)Arene

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQNC7EUsgBDr
https://dl.doubtnut.com/l/_25a71FWh1JP6

47. The simplest formula of a compound containing 50% of an

element X (atomic weight 10) and 50% of element Y (atomic

weight 20) is:

A. (a)XY

B. (b)X,Y

C.(c)XY;

D. (d) X, Y3

Answer: B

o Watch Video Solution

Stoichiometry And Limiting Reagents



https://dl.doubtnut.com/l/_Zg0cbJMZWS6l

1.12 g of Mg (at. Mass 24) on reacting completely with acid gives

hydrogen gas, the volume of which at STP would be

A (a)224 L

B.(b)11.2 L

C.(c)448L

D.(d)6.1L

Answer: B

o Watch Video Solution

2.27g of Al will react completely with..... g of O,

A (a)8g

B.(b)16 g


https://dl.doubtnut.com/l/_0Gq67DYCwZos
https://dl.doubtnut.com/l/_OrNVuCPQa4np

C.(c)32g

D.(d)24 g

Answer: D

o Watch Video Solution

3. If 10 g of Ag reacts with 1 g of sulfur, the amount of AgyS

formed will be [Atomic weight of Ag=108, S=32]?

A.775g

B.0775g

Cng

D.10g

Answer: A



https://dl.doubtnut.com/l/_OrNVuCPQa4np
https://dl.doubtnut.com/l/_1FRcYnrjHfUN

| ' Watch Video Solution |

4. What volume of Hy at 273K and 1 atm will be consumed in
obtaining 21.6g of elemental boron (atomic mass of B = 10.8)
from the reduction of BCl3 with H,.

A.(a)44.8 L

B.(b)22.4 L

C.(c)896L

D.(d)67.2 L

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1FRcYnrjHfUN
https://dl.doubtnut.com/l/_U4DhTKUTsxKq

5. When 2.76g of silver carbonate is strongly heated, it yields a

residue weighing

A.(a)216 g

B. (b)2.48 g

C.(c)264 g

D.(d)232g

Answer: A

° Watch Video Solution

6. In the reaction, 4NH3(g) + 505(g) — 4NO(g) + 6H,0(g),
when 1 mole of ammonia and 1 mole of O, are made to react to

completion


https://dl.doubtnut.com/l/_hnCH6qITDYVS
https://dl.doubtnut.com/l/_buwsr79Kc3FJ

A. (2)1.0 mole of H (2)O is produced

B. (b)1.0 mole of NO will be produced

C. (c)All the oxygen will be consumed

D. (d)All the ammonia will be consumed

Answer: C

° Watch Video Solution

7.Equal weights of X (atomic weight = 36) and Y (atomic weight
= 24) are reacted to form the compound X,Y3, which of the
following is/are correct

A. (a)X is the limiting reagent

B. (b)Y is the limiting reagent


https://dl.doubtnut.com/l/_buwsr79Kc3FJ
https://dl.doubtnut.com/l/_OebJ58b9cSj7

C.(c )No reactant is left over and mass of X,Y3 formed is

double the mass of 'X' taken

D. (d)None of these

Answer: C

o Watch Video Solution

8. What quanitity of ammonium sulphate is necessary for the
production of NHjz gas sufficient to neutralize a solution
containing 292 g of HC1?
[HCl = 36.5, (NH,),S04 = 132, NH; = 17|

A.(a)272 g

B.(b)403 g

C.(c)528¢


https://dl.doubtnut.com/l/_OebJ58b9cSj7
https://dl.doubtnut.com/l/_bCN32VJVnZQU

D.(d)1056 g

Answer: C

o Watch Video Solution

9. When the same amount of zinc is treated separately with
excess of sulphric acid and excess of sodium hydroxide, the ratio
of volume of hydrogen evolved is

A (a)1:1

B. (b)1:2

C.(c)2:1

D. (d)9:4

Answer: A

| o Wabkll. \tdaa ol aa



https://dl.doubtnut.com/l/_bCN32VJVnZQU
https://dl.doubtnut.com/l/_aviHnZLefJgu

|\ —vrvvdalilll VIUCU JUVIULIVII )

10. Calculate the weight of lime (CaO) obtained by heating 200 kg

of 95% pure lime stone (CaCOs).

A.(a)104.4 kg

B. (b)105.4 kg

C.(c)212.8 kg

D. (d)106.4 kg

Answer: D

o Watch Video Solution

1. The percentage of P,O5 in diammonium hydrogen phosphate

is:


https://dl.doubtnut.com/l/_aviHnZLefJgu
https://dl.doubtnut.com/l/_e6IpQl63bzFl
https://dl.doubtnut.com/l/_52yBK6r6yqPZ

A. (a)23.48

B. (b)46.96

C.(c)53.78

D. (d)71.00

Answer: C

° Watch Video Solution

12. In the reaction:

2Al(s) + 6HCl (o) — 2AL7

(ag.) + 6C1 -|—3H2(g)

(ag.)

A.(a)6 litres HCl( is consumed for every 3LH, )

ag. )
produced

B. (b)33.6 litres Hy (4 is produced regardless of temperature

and pressure for every mole Al that reacts


https://dl.doubtnut.com/l/_52yBK6r6yqPZ
https://dl.doubtnut.com/l/_0aozLoou3KdV

C.(c )67.2 litres Hsg)) at STP is produced for every mole Al
that reacts
D.(d) 11.2 litres Hy(4) at STP is produced for every mole

HCI 4.y consumed

Answer: D

° Watch Video Solution

1
13. If 15 moles of oxygen combine with Al to form Al,O3 the

weight of Al used in the reaction is (Al = 27)

A27g
B.54 g
C.495¢g

D.31g


https://dl.doubtnut.com/l/_0aozLoou3KdV
https://dl.doubtnut.com/l/_HyRqSmYO0UQa

Answer: B

o Watch Video Solution

14. Calculate the amount of Ni needed in the Mond's process

given below
Ni+4CO — Ni(CO),
If CO used in this process is obtained through a process, in which
6 g of carbon is mixed with 4 gCO,.
A (a)14675¢g
B.(b)29 g
C.(c)58g

D.(d)28 g

Answer: A

[ o !


https://dl.doubtnut.com/l/_HyRqSmYO0UQa
https://dl.doubtnut.com/l/_BJFLETXSBfdM

| & Watch Video Solution

15. If 0.50 mol of BaCl, is mixed with 0.20 mol of Na3 POy, the
maximum number of moles of Ba3(PO,), that can be formed is
A.0.70mol
B. 0.50mol
C. 0.20mol

D. 0.10mol

Answer: D

° Watch Video Solution

16. H, evolved at STP on complete reaction of 27 g of aluminium

with excess of aqueous NaOH would be


https://dl.doubtnut.com/l/_BJFLETXSBfdM
https://dl.doubtnut.com/l/_7j9SVtp2RKGN
https://dl.doubtnut.com/l/_gRjtlXnniN6X

A.(a)22.4 litres

B. (b)44.8 litres

C.(c)67.2 litres

D. (d)33.6 litres

Answer: D

° Watch Video Solution

17. What weight of SO, can be made by burning sulphur in 5.0

moles of oxygen?

A. (a)640 grams

B. (b)160 grams

C.(c )80 grams

D. (d)320 grams


https://dl.doubtnut.com/l/_gRjtlXnniN6X
https://dl.doubtnut.com/l/_fupybUfTejtj

Answer: D

o Watch Video Solution

18. An electric discharge is passed through a mixture containing
50 c.c. of O5 and 50 c.c. of Hy. The volume of the gases formed (i)
at room temperature and (ii) at 110° C will be

A. (a)(i) 25 c.c. (ii) 50 c.c.

B. (b)(i) 50 c.c. (ii) 75 c.c.

C.(c)(i) 25 c.c. (ii) 75 c.c.

D. (d)(i) 75 c.c. (ii) 75 c.c.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fupybUfTejtj
https://dl.doubtnut.com/l/_cWBA8D3LCLvw
https://dl.doubtnut.com/l/_CJv4wcvx36pp

19. The following process has been used to obtain iodine from
oil-field drines in California.

Nal + AgNO3 — Agl + NaNOs ..(1)

2AgI + Fe — Fel, + 2Ag...(2)

2Fel, + 3Cly — 2FeCls + 215 ..(3)

How many grams of AgNQO; are required in the first step for

every 254kgl, produced in the third step?

A. (a)340 x 10°
B. (b)240 x 10°
C. (c)440 x 10°

D. (d)540 x 103

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CJv4wcvx36pp
https://dl.doubtnut.com/l/_dwG1C1gQ6FEM

20. If isobutane and n-butane are present in a gas, then how

much oxygen should be required for complete combustion of 5

kg of this gas

A.(a)179 kg

B. (b)9 kg

C.(c)27 kg

D. (d)1.8 kg

Answer: A

° Watch Video Solution

21.112 ml of a gas is produced at STP by the action of 412 mg of
alcohole, with methyl magnesium iodide. The molecular mass of

alcohol is


https://dl.doubtnut.com/l/_dwG1C1gQ6FEM
https://dl.doubtnut.com/l/_rROJQDCafAFj

A. (a)16.0

B. (b)41.2

C.(c)84.2

D. (d)156.0

Answer: C

° Watch Video Solution

22. What will be the volume ofCO, at NTP obtained on heating

10 grams of (90% pure) limestone?

A. (a)22.4 litres

B. (b)2.016 litres

C.(c)2.24 litres

D. (d)20.6 litres


https://dl.doubtnut.com/l/_rROJQDCafAFj
https://dl.doubtnut.com/l/_1Gf8mlDDRocA

Answer: B

o Watch Video Solution

23. In a cartain operation 358 g of T'iCl, is reacted with 96 g of
Mg. Calculate % vyield of Ti if 32 g of Ti is actually obtained [At.
Wt. Ti=48, Mg=24][Hint: 358 = 1.8§]

.Ti=48, Mg= int: o5 = 1.

A. (a)35.38%

B. (b)66.6%

C.(c)100%

D. (d)60%

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1Gf8mlDDRocA
https://dl.doubtnut.com/l/_TGFuZJoZwU05
https://dl.doubtnut.com/l/_kwQQOa8RIWen

24.12 g of Mg (at. Mass 24) will react completely with acid to give

A. (a)One mole of H,
B. (b)1 /2 mole of H,
C.(c)2/3 mole of O,

D. (d)Both 1 /2 mol of Hy and 1 /2mol ofO,

Answer: B

o Watch Video Solution

25.1.5 mol of Oy combines with Mg to form oxide MgO. The mass

of Mg (at. Mass 24) that has combined is

A ()72 g

B.(b)36 g


https://dl.doubtnut.com/l/_kwQQOa8RIWen
https://dl.doubtnut.com/l/_OvnEmkJblbqQ

C.(c)48¢g

D.(d)24 g

Answer: A

o Watch Video Solution

26. NX is produced by the following step of reactions

M+ Xy - MX,

IMX, + Xy — M3 Xy

M3;Xg + N;CO3 — NX + COy 4+ M304

How much M (metal) is consumed to produce 206 gm of NX?

(Take at. wt of M =56, N=23, X = 80]

A.(a)42g

B. (b)56 g


https://dl.doubtnut.com/l/_OvnEmkJblbqQ
https://dl.doubtnut.com/l/_NkYONViZZsCB

14
C. (C)? g

o0l

Answer: A

o Watch Video Solution

27. Complete combustion of 0.858 g of compound X gives 2.63 g

of CO, and 1.28 g of H,0. The lowest molecular mass X can have

A (a)43 g

B.(b)86 g

C.(c)129g

D.(d)172 g

Answer: A



https://dl.doubtnut.com/l/_NkYONViZZsCB
https://dl.doubtnut.com/l/_JkOTrT1dqtCs

| ' Watch Video Solution |

Mole Concepts In Solution

1. The density (in g mL_l) of a 3.60M sulphuric acid solution

that is 29 % H,S0, (Molar mass = 989m0l_1) by mass will be

A. (a)1.64
B. (b)1.88
C.(c)1.22

D. (d)1.45

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JkOTrT1dqtCs
https://dl.doubtnut.com/l/_gQenCjrmPeos

2. The number of molecules in 100 mL of 0.02N H5S50, is:

A. (a)6.02 x 10%°
B. (b)6.02 x 10'®
C.(c)6.02 x 10*

D. (d)6.02 x 10%?

Answer: A

o Watch Video Solution

3. The mass of oxalic acid crystals (HyC304.2H50) required to

prepare 50 mL of a 0.2 N solution is:

A.(a)d5g

B.(b)63 g


https://dl.doubtnut.com/l/_0rzAcHhqt94h
https://dl.doubtnut.com/l/_iUsBk7mVsFqn

C.(c)063 g

D.(d)045g

Answer: C

o Watch Video Solution

4. How many millilitres of 0.1NH,50, solution will be required

for complete reaction with a solution containing 0.125 g of pure
Nay,CO3?

A. (a)23.6 mL

B. (b)25.6 mL

C.(c)263 mL

D. (d)32.6 mL


https://dl.doubtnut.com/l/_iUsBk7mVsFqn
https://dl.doubtnut.com/l/_1wlmAMAuabE3

Answer: A

o Watch Video Solution

5. What volume of NHj3 gas at STP would be needed to prepare

100 ml of 2.5 molal (2.5 m) ammonium hydroxide solution?

A. (2)0.056 litre

B. (b)0.56 litre

C.(c)5.6 litres

D. (d)11.2 litres

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1wlmAMAuabE3
https://dl.doubtnut.com/l/_t3lYoSOjoOmW

6. One litre of a solution contains 18 .9 g of HNQO3 and one litre

of another solution contains 3.2 g of NaOH. In what volume ratio

must these solution be mixed to obtain a neutral solution?

A. (a)3:8

B. (b)8:3

C.(c)15:4

D. (d)4:15

Answer: D

o Watch Video Solution

7.In the reaction CA(OH), + H3PO, — Ca3(PO,), + H5O,

the equivalent mass of H50 is: (M molecular mass)


https://dl.doubtnut.com/l/_OkSAA6qmwcEO
https://dl.doubtnut.com/l/_pTefb1M0Maqr

A (a)M

B. (b)M/2

C.(c)M/3

D. (d)M/6

Answer: A

° Watch Video Solution

8. The amount of wet NaOH containing 15% water required to

prepare 70 liters of 0.5 N solution is:

A. (a)1.65 kg

B. (b)1.4 kg

C.(c)16.5kg

D. (d)140 kg


https://dl.doubtnut.com/l/_pTefb1M0Maqr
https://dl.doubtnut.com/l/_iPm3B42qCLTz

Answer: A

o Watch Video Solution

9. The molarity of the solution containing 2.8% (mass/volume)

solution of KOH is: (Given atomic mass of K=39) is:

A.0.IM

B.0.5M

C.02M

D.1TM

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iPm3B42qCLTz
https://dl.doubtnut.com/l/_78uNDPxppIZP

10. Which of the following relations is incorrect for solutions?

A. (a)3NAl2(SO4)3 = 05Mal2(SO4)3
B.(b)3MH,SO, = 6NH,S50,
C.(c)IMH3PO, = 1/3NH3PO,

D. (d)1MAly(S04), = 6NAly(SO,),

Answer: C

o Watch Video Solution

11. A molal solution is one that contains 1 mol of a solute in

A. (a)1000 g of the solvent

B. (b)one litre of the solvent

C. (c)one litre of the solution


https://dl.doubtnut.com/l/_Nnp7dh0olEZi
https://dl.doubtnut.com/l/_Ap8zfs2GOvRE

D. (d)22.4 litres of the solution

Answer: A

° Watch Video Solution

12.10 mL of 1 NHCI is mixed with 20 mL of 1M H5,50, and 30 mL
of TM NaOH. The resultant solution has:

A. (a)20 meq of H™ ions

B. (b)20 meq of OH ~

C.(c)Omeqof H' or OH ~

D. (d)30 millimoles of H *

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ap8zfs2GOvRE
https://dl.doubtnut.com/l/_kHQ2uwcJtvXN

13. Which of the following increases with increase in

temperature?

A. (a)Molality

B. (b)Weight fraction of solute

C. (c )Fraction of solute present in water

D. (d)Mole fraction

Answer: C

° Watch Video Solution

14. The molarity of a solution obtained by mixing 750 mL of 0.5 M

HCl with 250 mL of 2 M HCI will be

A.(a)0.875 M


https://dl.doubtnut.com/l/_fq1uvwbeGsWm
https://dl.doubtnut.com/l/_svdcGfqufeC4

B. (b)1.00 M

C.(c)1.75M

D. (d)0.0975 M

Answer: A

o Watch Video Solution

15. In which mode of expression, the concentration of a solution

remains independent of temperature?

A. (a)Molarity

B. (b)Normality

C. (c )Formality

D. (d)Molality


https://dl.doubtnut.com/l/_svdcGfqufeC4
https://dl.doubtnut.com/l/_eD2WxL5zjuYL

Answer: D

o Watch Video Solution

16. 250 ml of a sodium carbonate solution contains 2.65 grams of
NayCOs. If 10 ml of this solution is diluted to one litre, what is

the concentration of the resultant solution (mol. Wt. of Na (a)
CO5; = 106)

A (a)OI M

B. (b)0.001 M

C.(c)0.01M

D.(d)10 %M

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eD2WxL5zjuYL
https://dl.doubtnut.com/l/_mqBbWdsYb3Zg

17. 25mL of a solution of barium hydroxide on titration with

0.1molar solution of hydrochloric acid give a titre value of 35m L.

The molarity of barium hydroxide is:

A. (a)0.28

B.(b)0.35

C.(c)o.07

D. (d)0.14

Answer: C

o Watch Video Solution

18. What is the molarity of H,S0O, solution that has a density

1.84 g/c c at 35° C and contains 98% by weight?


https://dl.doubtnut.com/l/_mqBbWdsYb3Zg
https://dl.doubtnut.com/l/_kVDoKvUg8o5Q
https://dl.doubtnut.com/l/_UlbSj1e3BVHa

A (2)418 M

B.(b)8.14 M

C.(c)184 M

D.(d)18 M

Answer: C

° Watch Video Solution

19. Two solutions of a substance (non-electroyte) are mixed in the
following manner 480mL of 1.5M of first solution with
520mL or 1.2M of second solution. The molarity of final

solution is:

A.(a)1.20 M

B. (b)1.50 M


https://dl.doubtnut.com/l/_UlbSj1e3BVHa
https://dl.doubtnut.com/l/_VfKFoKextt52

C.(c)1344 M

D.(d)2.70 M

Answer: C

o Watch Video Solution

20. The volume strength of 1.5.NH,0O, solution is

A.(a)4.8

B. (b)8.4

C.(c)3.0

D. (d)8.0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VfKFoKextt52
https://dl.doubtnut.com/l/_zu2hjE5OgfNR

21. The density of a solution prepared by dissolving 120 g of urea
(mol. Mass=60 u) in 1000 g of water is 1.15 g/mL. The molarity if
this solution is

A.(a)0.50 M

B. (b)1.78 M

C.(c)1o2m

D. (d)2.05 M

Answer: D

° Watch Video Solution

22. A molar solution is one that contains one mole of a solute in

A. (a)1000 g of the solvent


https://dl.doubtnut.com/l/_zu2hjE5OgfNR
https://dl.doubtnut.com/l/_KMztfcG9J2Nn
https://dl.doubtnut.com/l/_qnYPLjzDsm9t

B. (b)one litre of the solvent

C.(c)one litre of the solution

D. (d)22.4 litres of the solution

Answer: C

° Watch Video Solution

23. The normality of 0.3M phosphorous acid (H3POj3) is

A. ()01
B.(b)0.9
C.(c)0.3

D. (d)0.6

Answer: D

[ -


https://dl.doubtnut.com/l/_qnYPLjzDsm9t
https://dl.doubtnut.com/l/_H16WvLrfNIX9

| ) Watch Video Solution

24. Mole fraction of I, in CgHy is 0.2. Calculate molality of I, in
CeHg. (MwOfCGHﬁ = 7ngol_1)

A. (a)0.32

B. (b)3.2

C.(c)0.032

D. (d)0.48

Answer: B

° Watch Video Solution

25. What is the normlity of a 1 M solution of H3 PO,?


https://dl.doubtnut.com/l/_H16WvLrfNIX9
https://dl.doubtnut.com/l/_cwTyjzJ4CNDl
https://dl.doubtnut.com/l/_OgiMGkSWnKnH

A.(a)O5N

B.(b)1.ON

C.(c)20N

D.(d)3.0N

Answer: D

° Watch Video Solution

26. Normality of 2 M sulphuric acid is

A (a)2 N
B.(b)4 N
C.(c )g

N
D. (d)I


https://dl.doubtnut.com/l/_OgiMGkSWnKnH
https://dl.doubtnut.com/l/_8gsQx95EPryS

Answer: B

o Watch Video Solution

27.6.02 x 10%° molecules of urea are present in 100m.L solution.
The concentration of urea solution is:

A.(@)0aM

B. (b)0.01 M

C.(c)o.02M

D. (d)0.001 M

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8gsQx95EPryS
https://dl.doubtnut.com/l/_KADP8jzTEg1F

28. The molality of a urea solution in which 0.0100g of urea,

[((NH,),CO] is added to 0.3000dm?®of water at STP is

A (a)5.55 x 10 *M
B.(b)33.3 M
C.(c)3.33 x 10" 2M

D.(d)0.555 M

Answer: A

° Watch Video Solution

29. H; PO, (98gmol_1) is 98% by mass of solution. If the density

is 1.8 g/ml, the molarity is:

A (Q)18 M


https://dl.doubtnut.com/l/_zC6wphspg6qx
https://dl.doubtnut.com/l/_q5I57qHUbjIZ

B. (b)36 M

C.(c)54 M

D.(d)0.18 M

Answer: A

° Watch Video Solution

30. At 100°C' and latm, if the density of the liquid water is
1.0gcm 3 and that of water vapour is 0.0006gcm ~ 2, then the
volume occupied by water molecules in 1L of steam at this

temperature is

A. (a)6em?®
B. (b)60cm?®

C.(c)0.6cm?


https://dl.doubtnut.com/l/_q5I57qHUbjIZ
https://dl.doubtnut.com/l/_uTC6oMPxfzov

D. (d)0.06cm?

Answer: D

° Watch Video Solution

31. Amount of oxalic acid present in a solution can be determined
by its titration with KMnQ, solution in the presence of HyS50,.
The titration gives unsatisfactory result when carried out in the
presence of HCl because HCI:

A. (a) Gets oxidized by oxalic acid to chlorine

B. (b) Furnishes H ' ions in addition to those from oxalic acid

C.(c) Reduces permanganate to Mn?™"

D. (d) Oxidises oxalic acid to carbon dioxide and water

Answer: C


https://dl.doubtnut.com/l/_uTC6oMPxfzov
https://dl.doubtnut.com/l/_cO9Fqgv0pQdU

o Watch Video Solution

32. To neutralize completely 20mL of 0.1M aqueous solution of
phosphorus (H3PO3) acid the volume of 0.1M aqueous KOH
solution required is:

A. (a)60 mL

B. (b)20 mL

C.(c)40 mL

D. (d)10 mL

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_cO9Fqgv0pQdU
https://dl.doubtnut.com/l/_lJocnT6zYxae

33. How many grams of a dibasic acid (Mol. Wt. =200) should be

present in 100 ml of its aqueous solution to give decinormal

strength

A(ag

B.(b)2 g

C.(c)l0g

D.(d)20 g

Answer: A

o Watch Video Solution

34. The solution of sulphuric acid contains 80% by weight
H,50,. Specific gravity of this solution is 1.71. Its normality is

about


https://dl.doubtnut.com/l/_gWP3S97fUCjx
https://dl.doubtnut.com/l/_JzbPhpp0n8ea

A. (a)18.0

B. (b)27.9

C.(c)1.0

D. (d)10.0

Answer: B

° Watch Video Solution

35. An aqueous solution of 6.3g oxalic acid dihydrate is made up
to 250mL. The volume of 0.1NNaOH required to completely
neutralise 10m L of this solution is

A. (a)40 mL

B. (b)20 mL

C.(c)10 mL


https://dl.doubtnut.com/l/_JzbPhpp0n8ea
https://dl.doubtnut.com/l/_wQ9wBOddwMcX

D.(d)4 mL

Answer: A

° Watch Video Solution

36. A mixture z containing 0.02 mol of [Co(NHj),SO4]Br and
0.02 mol of [Co(NHj);Br| SO, was prepared in 2L of solution.
1L of mixture X + excess AgNO3 — Y
1L of mixture X + excess BaCly, — Z
The number of moles of Y and Z are

A. (a)0.01, 0.01

B. (b)0.02, 0.01

C.(c)0.01,0.02

D. (d)0.02,0.02



https://dl.doubtnut.com/l/_wQ9wBOddwMcX
https://dl.doubtnut.com/l/_5uJifg1f8Lzm

Answer: A

o Watch Video Solution

37. Density of 2.05M solution of acetic acid in water is
1.02g /mL. The molality of same solution is:

A.(a)0.44 mol kg 1

B. (b)1.14 mol &~ *

C.(c)3.28 mol kg *

D. (d)2.28 mol kg ~*

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_5uJifg1f8Lzm
https://dl.doubtnut.com/l/_rAPUtvd3zMRM

38. One litre hard water contains 12.00 mg Mg*™ milliegivalent
of washing soda required to remove its hardness is

A. (a)1

B. (b)12.15

C.(c)l x 103

D.(d)12.5 x 1073

Answer: A

o Watch Video Solution

39. How much of NaOH is reuired to neutralise 1500 c¢m? of 01 N

HCl (Na=23)?

A.(a)40g


https://dl.doubtnut.com/l/_DcokC3WjRwdw
https://dl.doubtnut.com/l/_hcvQBKmrEsF1

B.(b)4 g

C.(c)6g

D.(d)60 g

Answer: C

° Watch Video Solution

40. How much water should be added to 200 c.c of seminormal

solution of NaOH to make it exactly decinormal?

A.(a)200 c ¢

B.(b)400 cc

C.(c)800cc

D. (d)600 c ¢


https://dl.doubtnut.com/l/_hcvQBKmrEsF1
https://dl.doubtnut.com/l/_zOxNimbCoGgs

Answer: C

o Watch Video Solution

41. 016 g of dibasic acid required 25 ml of decinormal NaOH

solution for complete neutralisation. The molecular weight of the

acid will be

A. (a)32

B.(b)64

C.(c)128

D. (d)256

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zOxNimbCoGgs
https://dl.doubtnut.com/l/_xR9OXr0A5rHq
https://dl.doubtnut.com/l/_Jx0Dj2vvt5Y5

42.To neutralise 20 ml of M/10 sodium hydroxide, the volume of

M/20 hydrochloric acid required is

A. (a)10 ml

B. (b)15 ml

C.(c)20 ml

D. (d)40 ml

Answer: D

o Watch Video Solution

43. Hydrolic acid solution A and B have concentration of 0.5 N
and O.IN respectively. The volume of solutions A and B required

to make 2 litres of 0.2 N hydrochloric are


https://dl.doubtnut.com/l/_Jx0Dj2vvt5Y5
https://dl.doubtnut.com/l/_wWGuoVOa5DTd

A (2)0.5LofA + 1.5LofB

B.(b)1.5LofA + 0.5LofB

C.(c)1.0LofA + 1.0LofB

D.(d)0.75LofA + 1.25LofB

Answer: A

° Watch Video Solution

44.5mL of N — HCI, 20mL of N /2H550, and 30mL of N/3
HNQOj are mixed together and the volume is made to 1L. The
normality of the resulting solution is

A. (a)N/5

B. (b)N/10

C.(c)N/20


https://dl.doubtnut.com/l/_wWGuoVOa5DTd
https://dl.doubtnut.com/l/_FcZUAQBJvoZ6

D. (d)N/40

Answer: D

° Watch Video Solution

45. 30 ml of acid solution is netralized by 15 ml of a 0.2 N base.

The srength of acid solution is

A.(a)OIN

B.(b)015 N

C.(c)O3 N

D.(d)04 N

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FcZUAQBJvoZ6
https://dl.doubtnut.com/l/_6dbWvHF6a8K2

46. How many ml of 1 (M) HyS0Ois required neutralise 10 ml of 1

(M) NaOH solution?

A.(a) 2.5

B. (b)5.0

C.(c)10.0

D. (d)20.0

Answer: B

o Watch Video Solution

47.The amount of water that should be added to 500 ml of 0.5 N

solution of NaOH to give a concentration of 10 mg per ml is

A. (a)100


https://dl.doubtnut.com/l/_pMT8NlYm7EnO
https://dl.doubtnut.com/l/_TheFQyOOesRb

B. (b)200

C.(c)250

D. (d)500

Answer: D

o Watch Video Solution

Redox Titration And Stoichiometry In Various Types Of Reaction

1. In the reaction 2Na,5,03 + I, — Na3S,0¢ + 2Nal, the
equivalent weight of NayS503(mol. Wt. = M) is equal to

A (a)M

B.(b)M /2

C.(c)M/3


https://dl.doubtnut.com/l/_TheFQyOOesRb
https://dl.doubtnut.com/l/_qqpn8q3YwrTA

D. (d)M /4

Answer: A

° Watch Video Solution

2. The equivalent weight of MnSO, is half its molecular weight
when it is converted to

A.(a)Mny,03

B. (b)MnO,

C.(c)MnO,

D. (d)MnO?~

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qqpn8q3YwrTA
https://dl.doubtnut.com/l/_USrvjZtCnMgC

3.When HNQs is converted into NHj, the equivalent weight of
HNO; will be:

A (a)M /2

B.(b)M /1

C.(c)M/6

D.(d)M /8

Answer: D

o Watch Video Solution

4. In the conversion NHyOH — N,O, the equivalent weight of

NH,OH will be:

A (a)M /4


https://dl.doubtnut.com/l/_3P8oIqTVkFj8
https://dl.doubtnut.com/l/_C6cvnK7vC6go

B.(b)M /2
C.(c)M/5

D.(d)M /1

Answer: B

° Watch Video Solution

5. The mass of potassium dichromate crystal required to oxidise
750cm? of 0.6 M Mohr's salt solution is (molarmass = 392)

A. (a)0.49¢g

B. (b)0.45¢g

C.(c)22.05g

D. (d)2.2¢g


https://dl.doubtnut.com/l/_C6cvnK7vC6go
https://dl.doubtnut.com/l/_KI3s79nTUt5m

Answer: C

o Watch Video Solution

6. When potassium permanganate is titrated against ferrous
ammonoum sulphate, the equivalent weight of potassium
permanganent is

A. (a)Molecular weight /10

B. (b)Molecular weight /5

C. (c )Molecular weight /2

D. (d)Molecular weight

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KI3s79nTUt5m
https://dl.doubtnut.com/l/_aWj6d9hAGS8D
https://dl.doubtnut.com/l/_Yf5yatHE5Ob8

7. A substance which participates readily in both acid-base and

oxidation-reduction reactions is:

A (a)Na2CO3

B.(b) KOH

C.(c ) KMnQO,

D. (d)H,C50,

Answer: D

° Watch Video Solution

8. The number of moles of KMnQO, that will be needed to react

with 1mol of sulphite ion in acidic solution is

A 2


https://dl.doubtnut.com/l/_Yf5yatHE5Ob8
https://dl.doubtnut.com/l/_T2Wm8m7gEDVg

B.(b)—

C.(c)—=

D. (d)1

Answer: A

° Watch Video Solution

9. H,O, acts as both oxidising and reducing agent. As oxidising
agent, its product is H,O but as redusing agent, its product is
O,. Volume strength has great significance for chemical
reactions. The strength of '10 V means 1 volume (or litre) of H,O,
on decomposition (H202 — H50 + %O2> gives 10 volumes
(or litre) of oxygen at NTP.

15gBa(MnQO,), sample containing inert impurity is completely

reacting with 100 mL of '11.2 V' H,O,, then what will be the %


https://dl.doubtnut.com/l/_T2Wm8m7gEDVg
https://dl.doubtnut.com/l/_Jd3oXGlG99ep

purity of Ba(MnOg), in the sample: (Atomic mass:
Ba = 137, Mn = 55)

A. (a)5 %

B. (b)10 %

C.(c)50 %

D. (d)None of these

Answer: C

o Watch Video Solution

10. The valency factor of I, when, (i) it is formed by the reaction
of potassium iodide and potassium iodate in acid medium and

(ii) when it reacts with hypo, are respectively:

A (3)2, 2


https://dl.doubtnut.com/l/_Jd3oXGlG99ep
https://dl.doubtnut.com/l/_lhTZmQSeFG69

5
B.(b)=, 2
b3,

C()32
(g,

D. (d)5, 2

Answer: B

° Watch Video Solution

1. In the neutralization of NayS,03 using K,Cr,O; by
idometry, the equivalent weight of K,C'r,07 is

A. (a)molecular weight /2

B. (b)molecular weight /6

C. (c )Jmolecular weight /3

D. (d)same as molecular weight


https://dl.doubtnut.com/l/_lhTZmQSeFG69
https://dl.doubtnut.com/l/_qcNse8230obW

Answer: B

o Watch Video Solution

12. When N, is converted into NHj, the equivalent weight of

nitrogen will be:

A. (a)l1.67

B. (b)2.67

C.(c)3.67

D. (d)4.67

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qcNse8230obW
https://dl.doubtnut.com/l/_kSONOb5eC5Hy

13. Equivalent weight of KMnQO, acting as an oxidant in acidic

medium is

A. The same as its molecular weight

B. (b)Half of its molecular weight

C. (c )One-third of its molecular weight

D. (d)One-fifth of its molecular weight

Answer: D

° Watch Video Solution

14. In the reaction:
Na25203 + 4Cl2 + 5H2O — Na2SO4 + H2304 + 8HCI, the
equivalent weight of NayS,03 will be: (M= molecular weight of

NCLQSQOg,)


https://dl.doubtnut.com/l/_2VeKgiyog1Hk
https://dl.doubtnut.com/l/_GUiwry2Ci7LN

A (a)M /4
B. (b)M /8
C.(c)M/1

D. (d)M /2

Answer: B

° Watch Video Solution

15. In the reaction

ZC’U/SO4 +4KI1 — 20’11,2.[2 + .[2 + 2K2504

weight of CuSO, will be:

A. (a)79.75

B. (b)159.5

C.(c)329

the

equivalent


https://dl.doubtnut.com/l/_GUiwry2Ci7LN
https://dl.doubtnut.com/l/_WRwNLElPh44q

D. (d)None of these

Answer: B

O Watch Video Solution

16. KMnQO, react with oxalic acid according to the equation,
2MnO, +5C,0% +16H* — 2Mn%* + 10CO, + 8H,0,
here 20ml of 0.1M KMnOQ, is equivalemt to

A. (2)20ml of0.5M Hy,C504

B. (b)50ml of0.1M HyC50,

C.(c)50 ml of0.5M HyC504

D. (d)20ml of0.1M H,C50,

Answer: B

| o Wabkll. \tdaa ol aa



https://dl.doubtnut.com/l/_WRwNLElPh44q
https://dl.doubtnut.com/l/_wmYK1UJQrO9J

[\ —vvdalilll VIUCU JUVIULIVII )

17.
28NO; + 345,85 + 4H,0 — 64503~ + 28NO + 9503~ + H*
What will be the equivalent mass of As (2)S (3) in the above

reaction?

M

M
B. (b)T

M
C. (C )ﬁ

M
D. (d)2—8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wmYK1UJQrO9J
https://dl.doubtnut.com/l/_dHb7OutNnegS

18. In order to prepare one litre normal solution of K MnQO4, how
many grams of KMnQ, are required if the solution is used in
acidic medium for oxidation

A. (a)158¢g

B. (b)31.6¢g

C.(c)790g

D. (d)62g

Answer: B

o Watch Video Solution

19. HNOj5 oxidies NH4+ ions to nitrogen and itself gets reduced
to NO,. The moles of HNOj required by 1 mole of (NH,),50,

is:


https://dl.doubtnut.com/l/_kNIt04Z13Q7s
https://dl.doubtnut.com/l/_b5XvaPp9yI4W

A (a)4

B. (b)5

C.(c)6

D. (d)2

Answer: C

° Watch Video Solution

20. What is the concentration of nitrate ions if equal volumes of

0.1MAgNO;5 and 0.1M NaCl are mixed together?

A. (a)0.1N

B. (b)0.2M

C.(c)0.06M

D. (d)0.25M


https://dl.doubtnut.com/l/_b5XvaPp9yI4W
https://dl.doubtnut.com/l/_YvaP5k80qWcS

Answer: C

o Watch Video Solution

21. How many litres of Cl, at STP will be liberated by the
oxidation of NaCl with 10gK MnQO, in acidic medium: (Atomic
weight: Mn = 55 and K = 39)

A.(a)3.54

B. (b)7.08

C.(c)1.77

D. (d)None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YvaP5k80qWcS
https://dl.doubtnut.com/l/_JzUG5qPe7ark
https://dl.doubtnut.com/l/_8PcTpY3QxQMk

22. A solution containing Na;CO3 and NaOH requires 300ml
of 0.1INHCI using phenolphthalein as an indicator. Methyl
orange is then added to the above titrated solution when a
further 25ml of 0.2NHC(CI is required. The amount of NaOH
present in solution is (NaOH = 40, Na;CO3 = 106)

A. (a)0.6g

B. (b)1.0g

C.(c)l.5g

D. (d)2.0g

Answer: B

o Watch Video Solution

23. Which of the following cannot give iodometric titrations?


https://dl.doubtnut.com/l/_8PcTpY3QxQMk
https://dl.doubtnut.com/l/_TEBoOyFYmfgs

A (a)Fe3 ™
B. (b)Cu®™
C.(c)Pv?+

D.(d)Ag ™"

Answer: C

° Watch Video Solution

24. KMnOQO, reacts with ferrous ammonium sulphate according
to the equation
MnO, +5Fe*" +8H*' — Mn*" + 5Fe*" + 4H,0, here

10ml of 0.1M KMnQy is equivalent to

A. (a)20ml of 0.1M FeSO,

B. (b)30 ml of0.1M FeSO,


https://dl.doubtnut.com/l/_TEBoOyFYmfgs
https://dl.doubtnut.com/l/_fERDy1HERzUM

C.(c)40 ml of 0.1MFeSO,

D. (d)50 ml of 0.1M FeSO,

Answer: D

o Watch Video Solution

25. Calculate the mass of BaC' O3 produced when excess COs is

bubbled through a solution containing 0.205 moles of Ba(OH),

A. (a)81g
B. (b)40.5¢g
C.(c)20.25¢g

D. (d)162g


https://dl.doubtnut.com/l/_fERDy1HERzUM
https://dl.doubtnut.com/l/_PmwiH7bfhaBY

Answer: B

o Watch Video Solution

26. The number of moles of KMnQO, required to oxidise 1mol of
Fe(C30,) in acidic medium is

A. (a)0.6

B. (b)0.167

C.(c)0.2

D. (d)0.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PmwiH7bfhaBY
https://dl.doubtnut.com/l/_cdnFhCJmdJhP

27. The ratio of amounts of H,S needed to precipitate all the
metal ions from 100ml of 1M AgNO;5 and 100ml of 1MCuSOy4
will be

A (a)l:1

B.(b)1:2

C.(c)2:1

D. (d)None of these

Answer: B

o Watch Video Solution

28.100m! of 0.1N hypo decolourised iodine by the addition of x
g of crystalline copper sulphate to excess of Kl. The value of 'x' is

(molecular wt. of CuS0O,4.5H,0is250)


https://dl.doubtnut.com/l/_mgLcg1P4OpEG
https://dl.doubtnut.com/l/_eH7X32fVZ47Y

A. (a)5.0g

B. (b)1.25¢

C.(c)2.5g

D. (d)4g

Answer: C

° Watch Video Solution

29. How many grams of caustic potash required to completely

neutralise 12.6gH NQO3?

A (2)22.4KOH
B.(b)1.01KOH
C.(c)6.02KOH

D.(d)11.2KOH


https://dl.doubtnut.com/l/_eH7X32fVZ47Y
https://dl.doubtnut.com/l/_wfpXPgWdfCEw

Answer: D

o Watch Video Solution

30. What should be the weight and moles of AgCl precipitate
obtained on adding 500ml of 0.20MHCI! in 30g of AgNO;
solution? (agNO3 = 170)

A. (a)14.35¢g

B. (b)15g

C.(c)18¢g

D. (d)19g

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wfpXPgWdfCEw
https://dl.doubtnut.com/l/_xQAbuvnNz3Ka
https://dl.doubtnut.com/l/_JuWJfqRftIvo

31. A solution of 10ml1—]\gFeSO4 war titrated with KMnQOy,

solution in acidic medium. The amount of KM NQO, used will be
A. (a)b ml of0.1M
B.(b)10 ml of 1.1M
C.(c)10ml of 0.5M

D. (d)10 ml of 0.02M

Answer: D

o Watch Video Solution

32. 100gCaCO; reacts with 1litrelINHCI. On completion of

reaction how much weight of CO5 will be obtain

A. (a)5.5¢g


https://dl.doubtnut.com/l/_JuWJfqRftIvo
https://dl.doubtnut.com/l/_IfaFc0ifZNxB

B.(b)11g

C.(c)22g

D. (d)33g

Answer: C

o Watch Video Solution

33.3.92 g of ferrous ammonium sulphate crystals are dissolved in
100 mL of water, 20 mL of this solution requires 18 mL of
KMnOy during titration for complete oxidation. The weight of
KMnQOy present in one litre of the solution is

A. 3.476g

B. 12.38¢g

C.(c)34.76g


https://dl.doubtnut.com/l/_IfaFc0ifZNxB
https://dl.doubtnut.com/l/_dnlSQx8WUITe

D. 1.238¢

Answer: A

° Watch Video Solution

34. A 100m! solution of 0.1NHCI was titrated with 0.2?
NNaOH solution. The titration. The remaining titration war
completed by adding 0.25NKOH solution. The volume of KOH
required for completing the titration is

A. (a)7T0ml

B. (b)32ml

C.(c)35ml

D. (d)16ml

Answer: D


https://dl.doubtnut.com/l/_dnlSQx8WUITe
https://dl.doubtnut.com/l/_Qk6LaUd43lO8

o Watch Video Solution

Significant Figures Rounding Off And Dimentional Analysis

1. One fermi is

A (a)10 " Bm

B.(b)10 *m

C.(c)10 9m

D.(d)10~’m

Answer: A

° Watch Video Solution

2. A picometre is written as


https://dl.doubtnut.com/l/_Qk6LaUd43lO8
https://dl.doubtnut.com/l/_nCEBcLvxyZCn
https://dl.doubtnut.com/l/_rqoYxgSIh850

A (a)10 " °m
B.(b)10~ 'm
C.(c)10 1m

D. (d)10 ~?m

Answer: D

° Watch Video Solution

3. One atmosphere is equal to

A.(a)101.325K Pa
B. (b)1013.25Kpa
C.(b)10°Nm

D. (d)None of these


https://dl.doubtnut.com/l/_rqoYxgSIh850
https://dl.doubtnut.com/l/_k20n1q9tjBum

Answer: A

o Watch Video Solution

4. Dimensions of pressure are same as that of

A. (a)Energy

B. (b)Force

C.(c)Energy per unit volume

D. (d)Force per unit volume

Answer: C

° Watch Video Solution

5.The prefix 10'® is


https://dl.doubtnut.com/l/_k20n1q9tjBum
https://dl.doubtnut.com/l/_y1miJ2A5z8nn
https://dl.doubtnut.com/l/_ypy6qv2VPmoP

A. (a)Giga

B. (b)Nano

C.(c)Mega

D. (d)Exa

Answer: D

° Watch Video Solution

6. Given the number: 161 cm, 0161 cm, 0.0161 cm. The number of

significant figures for the three numbers are

A. (a)3, 4 and 5 respectively

B. (b)3, 3 and 3 respectively

C.(c)3,3 and 4 respectively

D. (d)3, 4 and 4 respectively


https://dl.doubtnut.com/l/_ypy6qv2VPmoP
https://dl.doubtnut.com/l/_GUk2LJxLfG5N

Answer: B

o Watch Video Solution

7.Significant figures in 0.00051 are

A. (a)b

B. (b)3

C.(c)2

D. (d)4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GUk2LJxLfG5N
https://dl.doubtnut.com/l/_qfEvirg3yon8

8. In the final answer of  the expression

(29.2 — 20.2) (1.79 x 10°)
1.37

. The number of significant figures is

A (a)l

B. (b)2

C.(c)3

D. (d)4

Answer: B

o Watch Video Solution

9. 81.4g sample of enthyl ethyl alcohol contains 0.002g of water.
The amount of pure ethyl alcohol to the proper number of

significant figures is


https://dl.doubtnut.com/l/_z8YXu3Y6kiP7
https://dl.doubtnut.com/l/_CVcf7zITxfjC

A. (a)81.398¢g

B. (b)71.40g

C.(c)91.4¢g

D. (d)81g

Answer: A

o Watch Video Solution

10. The unit JPa ! is equivalent to

A (a)m3
B. (b)ern®
C.(c)dm?

D. (d)None of these


https://dl.doubtnut.com/l/_CVcf7zITxfjC
https://dl.doubtnut.com/l/_hk43rhac6DHp

Answer: A

o Watch Video Solution

11. From the following masses, the one which is expressed

nearest to the milligram is

A. (a)l6g

B. (b)16.4g

C.(c)16.428¢g

D. (d)16.4284g

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hk43rhac6DHp
https://dl.doubtnut.com/l/_JMM2w9zzj8Wa

12. The number of significant figures in 6.02 x 10? is

A. (a)23
B. (b)3
C.(c)4

D. (d)26

Answer: B

o Watch Video Solution

13. The prefix zepto stands for

A. (a)10°
B. (b)10~'2

C.(c)10~ 1


https://dl.doubtnut.com/l/_uYSWSOAKyET6
https://dl.doubtnut.com/l/_FFC1EsJmZI8q

D. (d)10~ 2!

Answer: D

o Watch Video Solution

14. The significant figures in 3400 are

A. (a)2

B. (b)5

C.(c)6

D. (d)4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FFC1EsJmZI8q
https://dl.doubtnut.com/l/_Y3wXbv2Nu2Oz
https://dl.doubtnut.com/l/_npwCPq8RVXxs

15. The number of significant figures in 6.0023 are

A. (a)b

B. (b)4

C.(c)3

D. (d)1

Answer: A

° Watch Video Solution

16. Given P = 0.0030m, Q = 2.40m, R = 3000m, Significant

figures in P, Q and R are respectively

A (2)2,2,1

B.(b)1, 3, 4


https://dl.doubtnut.com/l/_npwCPq8RVXxs
https://dl.doubtnut.com/l/_A8besGj3ynIL

C.(c)4,2,1

D. (d)4, 2, 3

Answer: B

° Watch Video Solution

17. The number of significant figures in 60.0001 is

A. (a)b

B. (b)6

C.(c)3

D. (d)2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A8besGj3ynIL
https://dl.doubtnut.com/l/_jfrcbm3dji6j

18. A sample was weighted using two different balances. The

results were (i) 3.929¢g and (ii) 4.0g. How would the weight of the

sample be reported?

A. (2)3.929¢g

B. (b)3g

C.(c)3.9¢g

D. (d)3.93g

Answer: D

o View Text Solution

Section B Assertion Reasoning



https://dl.doubtnut.com/l/_jfrcbm3dji6j
https://dl.doubtnut.com/l/_GM1UVzqC6Ftq

1. Assertion: Volume of a gas is inversely proportional to the

number of moles of a gas.

Reason: The ratio by volume of gaseous reactants and products

is in agreement with their molar ratio.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vPHiclqUAx7P
https://dl.doubtnut.com/l/_dbb99NEmocd1

2. Assertion: Molecular weight of oxygen is 16.

Reason: Atomic weight of oxygen is 16.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: D

o Watch Video Solution

3. Assertion: Atoms can neither be created nor destroyed.

Reason: Under similar condition of temperature and pressure,


https://dl.doubtnut.com/l/_dbb99NEmocd1
https://dl.doubtnut.com/l/_uIYADg4Nxlxf

equal volume of gases does not contain equal number of atoms.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: C

o Watch Video Solution

4. Assertion: Equivalent mass of ozone in the change
03—>02’i88.

Reason: 1 moles of O3 on decomposition gives 3 /2 mole of Os.


https://dl.doubtnut.com/l/_uIYADg4Nxlxf
https://dl.doubtnut.com/l/_nnWg0ORXW13X

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: B

o View Text Solution

5. Assertion: Equivalent mass of H3BO3 and Na3BO3 are M /3
Reason: Equivalent mass of H3BO3 is M /1 and Na3BOs is

M/3


https://dl.doubtnut.com/l/_nnWg0ORXW13X
https://dl.doubtnut.com/l/_lrEHTd2x1X8m

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: D

o Watch Video Solution

6. Assertion: 1 equivalent of Hy SO, contains 1 equivalent of H, S
and O each
Reason: A species contains same number of equivalents of its

components.


https://dl.doubtnut.com/l/_lrEHTd2x1X8m
https://dl.doubtnut.com/l/_IRwyPjTmadUC

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

o Watch Video Solution

7. Assertion: Acidimetry and alkalimetry are the terms used in
volumetric analysis.
Reason: The reactant left the chemical reaction is called limiting

reagent.


https://dl.doubtnut.com/l/_IRwyPjTmadUC
https://dl.doubtnut.com/l/_JM161Spm9gKK

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: C

o Watch Video Solution

8. Assertion: NaNOj3 has no definite molecule.

Reason: Its formula mass is 85.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.


https://dl.doubtnut.com/l/_JM161Spm9gKK
https://dl.doubtnut.com/l/_6sf86Tpx3si5

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: B

o Watch Video Solution

9. Assertion: 31.26m.L of 0.165M solution of Ba(OH), is exactly
neutralised by 25m L of citric acid Cg HgO, of molarity 0.138.
Reason: The acid is tribasic in nature.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.


https://dl.doubtnut.com/l/_6sf86Tpx3si5
https://dl.doubtnut.com/l/_bAtwBIuomqyK

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

10. Statement H3B(QO3; is monobasic Lewis acid but its salt
Na3BO3 exist.
Explanation H3 BOj3 reacts with NaOH to give Na3BOs.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.


https://dl.doubtnut.com/l/_bAtwBIuomqyK
https://dl.doubtnut.com/l/_ziUKNlrsMSiw

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: C

° Watch Video Solution

1. Assertion: In the titration of Na;C'O3 with HCI using methyl
orange indicator, the volume of acid required is twice that of the
acid required using phenolphthalein as indicaton.

Reason: Two moles of HC! are required for the complete

neutralisation of one mole of Nay,COs.


https://dl.doubtnut.com/l/_ziUKNlrsMSiw
https://dl.doubtnut.com/l/_WIDm8YpaRUGC

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: B

o Watch Video Solution

12. Assertion (A): pure water obtained from different states of
india always contains hydrogen and oxygen in the ration of 1:8 by
mass.

Reason (R ): Total mass of reactants and products during

chemical change is always the same.


https://dl.doubtnut.com/l/_WIDm8YpaRUGC
https://dl.doubtnut.com/l/_HZLjBWq7wxON

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: B

o Watch Video Solution

13. Statement 1moleO3 = NmoleculeO3 = 3N atoms of
O = 48¢g
Explanation A mole is the amount of matter that contains as

many as objects as the amount of atoms exactly in 12gC*2.


https://dl.doubtnut.com/l/_HZLjBWq7wxON
https://dl.doubtnut.com/l/_IsYp9due5a4o

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

14. Assertion (A): The standard unit of expressing the mass of
atom is amu.

Reason (R ): amu is also called as avogram.


https://dl.doubtnut.com/l/_IsYp9due5a4o
https://dl.doubtnut.com/l/_tn1QIcSZEGX3

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: B

o Watch Video Solution

15. Statement Equivalent weight of a species can be written as
molecular weight of species divided by valence factor.

Explanation Valence factor represents valence in element, acidity
in bases, basicity in acids and total charge on cation or anion in

an ionic compound.


https://dl.doubtnut.com/l/_tn1QIcSZEGX3
https://dl.doubtnut.com/l/_GczLgtZgnVNN

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

o Watch Video Solution

16. Statement H3 POs is a dibasic acid and its salt Nays PO does
not exist.

Explanation Being dibasic nature, only two H are replaceable.


https://dl.doubtnut.com/l/_GczLgtZgnVNN
https://dl.doubtnut.com/l/_5ZUzOqkOj2DS

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

17. Statement Addition of water to a solution containing solute
and solvent changes its normality or molarity only.
Explanation The milli-equivalent and milli-moles of solutes are

not changed on dilution.


https://dl.doubtnut.com/l/_5ZUzOqkOj2DS
https://dl.doubtnut.com/l/_O71CUNGClsjO

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and the reason is not

the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

o Watch Video Solution

18. Assertion: The weight percentage of a compound A in a

solution is given by

Mass A
A — 100
%of Total mass of solution %

Reason: The mole fraction of a component A is given by, Mole


https://dl.doubtnut.com/l/_O71CUNGClsjO
https://dl.doubtnut.com/l/_3qha878GiDOp

fraction of A

No. of moles of A
Total no. of moles of all components

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: B

o Watch Video Solution

19. Assertion: The ratio of the mass of 100 billion atoms of

magnesium to the mass of 100 billion atoms of lead can be


https://dl.doubtnut.com/l/_3qha878GiDOp
https://dl.doubtnut.com/l/_qMkWxTEqfooB

27
expressed as —.
207

Reason: Atomic weight are relative masses.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

20. Assertion: The average mass of one Mg atom is 24.305au,

which is not actual mass of one Mg atom.


https://dl.doubtnut.com/l/_qMkWxTEqfooB
https://dl.doubtnut.com/l/_sbrAKa0iP92O

Reason: Three isotopes, 24Mg, 25Mg and 26Mg, of Mg are

found in nature.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

21. Assertion: A molecule of butane, Cy Hy has a mass of 58.12au


https://dl.doubtnut.com/l/_sbrAKa0iP92O
https://dl.doubtnut.com/l/_FUYf9g0JmXFS

Reason: One mole of butane contains 6.022 x 10?® molecules

and has a mass of 58.12g.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

22. Assertion: Both 12g. of carbon and 27g. of aluminium will have

6.02 x 10?3 atoms.


https://dl.doubtnut.com/l/_FUYf9g0JmXFS
https://dl.doubtnut.com/l/_ubBIwrTmN2lI

Reason: Gram atomic mass of an element contains Avogadro's

number of atoms.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

23. Assertion: The molality and molarity of very dilute aqueous

solutions differ very little.


https://dl.doubtnut.com/l/_ubBIwrTmN2lI
https://dl.doubtnut.com/l/_kPo842VBmMqn

3

Reason: The density of water is about 1.0gcm ™~ at room

temperature.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

24. Assertion: Laboratory reagents are usually made up to a

specific molarity rather than a given molality.


https://dl.doubtnut.com/l/_kPo842VBmMqn
https://dl.doubtnut.com/l/_zX9chvtApfdc

Reason: The volume of a liquid is more easily measured than its

mass.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

25. Assertion: Molality and mole fraction concentration units do

not change with temperature.


https://dl.doubtnut.com/l/_zX9chvtApfdc
https://dl.doubtnut.com/l/_IHpKuulKlvQk

Reason: These units are not defined in terms of any volume.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

26. Assertion: A one mola solution prepared at 20° C will retain

the same molality at 100° C, provided there is no loss of solute or


https://dl.doubtnut.com/l/_IHpKuulKlvQk
https://dl.doubtnut.com/l/_AngBB5fkH90e

solvent on heating.

Reason: Molality is independent of temperature.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: A

o Watch Video Solution

Aipmt Neet Questions


https://dl.doubtnut.com/l/_AngBB5fkH90e

1. Molarity of liquid HCl with density equal to 1.17g /mL is:

A. (a)36.5

B. (b)18.25

C.(c)32.05

D. (d)4.65

Answer: C

o Watch Video Solution

2. Specific volume of cylindrical virus particle is 6.02 x 10~ %cc/g
whose radius and length 7A and 10A respectively. If

N4 = 6.02 x 103, find molecular weight of virus:

A.(a)3.08 x 10%kg/mol


https://dl.doubtnut.com/l/_n7UXFhSEY4Em
https://dl.doubtnut.com/l/_GNYG2AI2KwAZ

B. (b)15.4kg / mol
C.(c)1.54 x 10*kg /mol

D. (d)3.08 x 10%*kg /mol

Answer: B

° Watch Video Solution

3. Percentage of Se in peroxidase anhydrase enzyme is 0.5 % by
weight (at. Wt. = 78.4), then minimum molecular weight of
peroxidase anhydrase enzyme is:

A. (a)1.568 x 10°

B. (b)15.68

C.(c)1.568 x 10

D. (d)2.136 x 10*


https://dl.doubtnut.com/l/_GNYG2AI2KwAZ
https://dl.doubtnut.com/l/_nCNgwrgYr54G

Answer: C

o Watch Video Solution

4, Which has maximum number of molecules?

A. (a)7gN,

B. (b)2gH,

D. (d)16g0,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nCNgwrgYr54G
https://dl.doubtnut.com/l/_26x5XvEgqvRF

5. In Haber process 30 litre of dihydrogen and 30 litres of
dinitrogen were taken for reaction which yielded only50 % of the
expected product. What will be the composition of gaseous
mixture under the aforesaid condition in the end ?
A. (a)20 litres ammonia, 25 litres nitrogen, 15 litres hydrogen
B. (b)20 litres ammonia, 20 litres nitrogen, 20 litres hydrogen

C. (c )10 litres ammonia, 25 litres nitrogen, 15 litres hydrogen

D. (d)20 litres ammonia, 10 litres nitrogen, 30 litres hydrogen

Answer: C

° Watch Video Solution

6. The maximum number of molecules is present in :


https://dl.doubtnut.com/l/_5nwNKQRRqLk4
https://dl.doubtnut.com/l/_QgsDIIuNixvJ

A.(a)15 L ofH, gas at STP

B. (b)5 L of N, gas at STP

C.(c)0.5 g of Hygas

D. (d)10 g of Osgas

Answer: A

° Watch Video Solution

7.The mole fraction of the solute in one molal aqueous solution

is:

A. (a)1.7700

B. (b)0.1770

C.(c)0.0177

D. (d)0.0344


https://dl.doubtnut.com/l/_QgsDIIuNixvJ
https://dl.doubtnut.com/l/_Zb2kMVgfrvqW

Answer: C

o Watch Video Solution

8. The mass of carbon anode consumed (giving only carbon
dioxide) in the production of 270kg of aluminium metal from
bauxite by the Hall process is (Atomic mass: Al = 27):

A. (a)90kg

B. (b)540kg

C.(c)270kg

D. (d)180kg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Zb2kMVgfrvqW
https://dl.doubtnut.com/l/_hziF73D9bxeQ
https://dl.doubtnut.com/l/_4jly4hJdfcWj

9. The number of moles of KMnO, reduced by 1mol ofKT in

alkaline medium is

A. (a)one

B. (b)two

C. (c ))five

D. (d)one-fifth

Answer: a

° Watch Video Solution

10. The ionic stregth of Na™ on mixing 100mL0.1NaCI and

100m LO. 1NNG,2 504 is:

A. (a)0.2


https://dl.doubtnut.com/l/_4jly4hJdfcWj
https://dl.doubtnut.com/l/_qFAXrTwZWWVI

B. (b)0.1

C.(c)0.3

D. (d)0.075

Answer: d

o Watch Video Solution

11. Concentrated aqueous solution of sulphuric acid is 98 % by
mass and has density of 1.80g mL ~'. What is the volume of acid
required to make one liter 0.1M H,50, solution ?

A. (a)16.65mL

B. (b)22.20mL

C.(c)5.55mL

D.(d)11.10mL


https://dl.doubtnut.com/l/_qFAXrTwZWWVI
https://dl.doubtnut.com/l/_qIPxS4xfNWKE

Answer: ¢

o Watch Video Solution

12. An element X has the following isotopic composition:
200x:90 % "X :8.0% 22 X:2.0%
The weight average atomic mass of the naturally occurring
element X is closest to

A. 201 amu

B. 202 amu

C.199 amu

D. 200 amu

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qIPxS4xfNWKE
https://dl.doubtnut.com/l/_PPqxu6Qi653d

13. The number of moles of KMnQ, that will be needed to react

with 1mol of sulphite ion in acidic solution is

A (a)4/5

B.(b)3/5

C.(c)1

D.(d)2/5

Answer: d

o Watch Video Solution

14. What volume of oxygen gas (O5) measured at 0° C and 1 atm
is needed to burn completely 1L of propane gas (Cs3Hjy)

measured under the same condition?


https://dl.doubtnut.com/l/_PPqxu6Qi653d
https://dl.doubtnut.com/l/_2TMjWhzg7wPQ
https://dl.doubtnut.com/l/_XKzxq6oReoNr

A. (a)6L

B.(b)5L

C.(c)10L

D.(d)7L

Answer: b

° Watch Video Solution

15. How many moles of lead (Il) choride will be formed from a

reaction between 6.5 g of PbO and 3.2 g of HCI?

A. (2)0.333

B. (b)0.011

C.(c)0.029

D. (d)0.044


https://dl.doubtnut.com/l/_XKzxq6oReoNr
https://dl.doubtnut.com/l/_mbxf7m8tDXzU

Answer: C

o Watch Video Solution

16. If the density of wateris 1 g cm 3 then the volume occupied
by one molecule of water is approximately

A.(a)6.023 x 10~ 3em?

B.(b)3.0 x 10~ *cm?

C.(c)5.5 x 10~ *cm?

D.(d)9.0 x 10~ 2¢em?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mbxf7m8tDXzU
https://dl.doubtnut.com/l/_DMp0a4bs2xJA

17. The number of mole of KMnQ, that will be needed to react

completely with one mole of ferrous oxalate in acidic solution is:

A. (a)0.6 mole

B. (b)0.4 mole

C.(c)7.5 mole

D. (d)0.2 mole

Answer: a

° Watch Video Solution

18. 10 g of hygrogen and 64 g of oxygen were filled in a steel
vessel and exploded. Amount of water produced in this reaxtion

will be:


https://dl.doubtnut.com/l/_TqC3YNikyjML
https://dl.doubtnut.com/l/_D79Y7becsM9v

A.(a)l mole

B. (b)2 moles

C.(c)3 moles

D. (d)4 moles

Answer: D

° Watch Video Solution

19. What is the [OH_} in the final solution prepared by mixing
20.0mL of 0.050M HC'! with 30.0mL of 0.10M Ba(OH),?

A. (a)0.12M

B. (b)0.10M

C.(c)0.40M

D. (d)0.0050M


https://dl.doubtnut.com/l/_D79Y7becsM9v
https://dl.doubtnut.com/l/_JlxgyaM2bUkU

Answer: b

o Watch Video Solution

20. 25.3¢g sodium carbonate, NayCOs3, was dissolved in enough
water to make 250mL of solution. If sodium carbonate
dissociates completely, molar concentration of Nat and
carbonate ions are respectively:

A.(a)0.9555M and 1.910M

B.(b)1.910M and 0.955M

C.(c)1.90M and 1.090M

D.(d)0.477M and 0.477M

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_JlxgyaM2bUkU
https://dl.doubtnut.com/l/_j35wMDXX6Gj3

21. The number of atoms in 0.1 mol of a triatomic gas is:

A. (a)6.026 x 10%
B. (b)1.806 x 10%
C.(c)3.600 x 10%

D. (d)1.80 x 10%

Answer: B

° Watch Video Solution

22. How many grams of concentrated nitric acid solution should
be used to prepare 250mL of 2.0MHNQO3? The concentrated

acid is 70 % HNOs:


https://dl.doubtnut.com/l/_j35wMDXX6Gj3
https://dl.doubtnut.com/l/_3nmMMMchiryB
https://dl.doubtnut.com/l/_ij9JH0Cukhl9

A. (2)90.0 g conc. HNO;

B. (b)70.0 g conc. HNQO;

C.(c)54.0 g conc. HNO;

D. (d)45.0 g conc. HNOs

Answer: D

° Watch Video Solution

23.6.02 x 10?° molecules of urea are present in 100m.L solution.
The concentration of urea solution is:

A. (a)0.01M

B. (b)0.001M

C.(c)0.1M

D. (d)0.02M


https://dl.doubtnut.com/l/_ij9JH0Cukhl9
https://dl.doubtnut.com/l/_N9FemxpepKAn

Answer: a

o Watch Video Solution

24.1n an experiment it is shown that 10mL of 0.05M solution of
chloride required 10mL of 0.1M solution of AgNO3, which of
the following will be the formula of the chloride (X stands for the
symbol of the element other than chlorine):

A. (a)XQCl

B. (b) Xl

C. (C )XCl2

D. (d) X Cl,

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_N9FemxpepKAn
https://dl.doubtnut.com/l/_YTBUvguSHQWV

25. Equal masses of Hy, Oy and methane have been taken in a
container of volume V at temperature 27°C in identical

conditions. The ratio of the volume of gases Hs: O, : methane

would be
A (a)8:16:1
B.(b)16:8:1
C.(c)16:1:2
D.(d)8:1:2
Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_YTBUvguSHQWV
https://dl.doubtnut.com/l/_9WpjVSyPNgkC

26. When 22.4L of H,(g) is mixed with 11.2 of Cly(g), each at STP,
the moles of HCI(g) formed is equal to

A.(a)1 mole of HCI(g)

B. (b)2 moles of HCl(g)

C.(c)0.5 mole of HCI(g)

D. (d)1.5 mole of HCI(g)

Answer: a

° Watch Video Solution

27.1.0 g of magnesium is burnt with 0.56 g O, in a closed vessel.

Which reactant is left in excess and how much?

A.(a)Mg, 0.16¢g


https://dl.doubtnut.com/l/_gSD2doCzyOcd
https://dl.doubtnut.com/l/_rE4GHfx0X59v

B. (b)O,, 0.16g

C.(c)Mg, 0.44¢g

D. (d)Os, 0.28g

Answer: A

° Watch Video Solution

28. A mixture of gases contains Hy and O, gases in the ratio of
1:4(w/w). What is the molar ratio of the two gases in the
mixture?

A (a)l6:1

B.(b)2:1

C.(c)l:4

D.(d)4:1


https://dl.doubtnut.com/l/_rE4GHfx0X59v
https://dl.doubtnut.com/l/_5ocRhvJKqhFG

Answer: b

o Watch Video Solution

29. The number of water molecules is maximum in

A. (a)18 grams of water

B. (b)18 moles of water

C. (c )18 molecules of water

D. (d)1.8 grams of water

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5ocRhvJKqhFG
https://dl.doubtnut.com/l/_QOXo5Q8EWIZi

30. If Avogadro number N is changed from 6.022 x 10%mol ~!
to 6.022 x 10*°mol ~ 1, this would change:
A. (a)the ratio of chemical species to each other in a balance
equation
B. (b)the ratio of elements to each other in a compound
C. (c )the definition of mass in unit of gram

D. (d)the mass of one mole of grams

Answer: D

o Watch Video Solution

31. 20.0 g of a magnesium carbonate sample decomposes on

heating to give carbon dioxide and 8.0 g magnesium oxide. What


https://dl.doubtnut.com/l/_Yv4OoHcAkjBu
https://dl.doubtnut.com/l/_8N3KaZhfmUjh

be the percentage purity of magnsesium carbonate in the

sample?

A. (a)60
B. (b)84
C.(c)75

D. (d)96

Answer: a

o Watch Video Solution

32. What is the mass of the precipitate formed when 50 mL of

16.9% solution of AgNQOj3 is mixed with 50 mL of 5.8% NacCl

solution?

A. (a)7g


https://dl.doubtnut.com/l/_8N3KaZhfmUjh
https://dl.doubtnut.com/l/_vYcGLikoYdTg

B. (b)14g

C.(c)28¢g

D. (d)3.5¢

Answer: a

° Watch Video Solution

33. A mixture of 2.3 g formic acid and 4.5 g oxalic acid is treated
with conc. Hy50,. The evolved gaseous mixture is passed
through KOH pellets. Weight (in g) of the remaining product at
STP will be

A (a)l.4

B. (b)3.0

C.(c)2.8


https://dl.doubtnut.com/l/_vYcGLikoYdTg
https://dl.doubtnut.com/l/_Sy8CzYNKjvX1

D. (d)4.4

Answer: a

° Watch Video Solution

34. In which case is the number of molecules of water maximum?

A. (a)18 mL of water
B. (b)0.18 g of water
C.(c)0.00224 L of water vapour at 1 atm and 273 K

D. (d)10 2 mol of water

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Sy8CzYNKjvX1
https://dl.doubtnut.com/l/_kTjTZ1T69Z4K

1. Which of the following equation does not obey the law of

conservation of mass?

A (a)4H + O, — 2H,0
B.(b)H, + O — 2H,0
C.(c)2H + Oy — 2H,0

D. (d)Both(b) and (c)

Answer: a

o Watch Video Solution

2. The specific heat of a metal os 0.16 its approximate atomic

weight would be


https://dl.doubtnut.com/l/_zCwT1YJqVKXq
https://dl.doubtnut.com/l/_kRoEHHgP4NkX

A. ()40

B. (b)16

C.(c)32

D. (d)64

Answer: a

o Watch Video Solution

3. Percentage of Se in peroxidase anhydrase enzyme is 0.5 % by
weight (at. Wt. = 78.4), then minimum molecular weight of
peroxidase anhydrase enzyme is:

A. (a)1.576 x 10

B. (b)1.576 x 10°

C.(c)15.76


https://dl.doubtnut.com/l/_kRoEHHgP4NkX
https://dl.doubtnut.com/l/_kpKom9Igg5QP

D. (d)2.136 x 10*

Answer: c

° Watch Video Solution

4. What is the molarity of H,S0O, solution that has a density 1.84

g/c c at 35° C and contains 98% by weight?

A (a)4.18M

B. (b)8.14M

C.(c)18.4M

D. (d)18M

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kpKom9Igg5QP
https://dl.doubtnut.com/l/_8nyDP2Yy18Em

5.2.5 g of the carbonate of a metal war treated with 100 ml of
1NH,S50,. After the completion of the reaction, the solution
was boiled off to expel CO, and was then titrated against 1 N
NaOH solution. The volume of alkali that would be consumed, if

the equivalent weight of the metal is 20.

A. (a)50
B. (b)25
C.(c)75

D. (d)100

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_JdHNwdsYBhTB

6. To a 25 mL H,0, solution excess of an acidified solution of
potassium iodide was added. The iodine liberated required 20 "
mL of " 0.3 N sodium thiosulphate solution Calculate the volume
strength of HyO, solution.

A.(a)l.344g/ L

B.(b)3.244¢g /L

C.(c)5.4g/L

D. (d)4.08¢ /L

Answer: d

° Watch Video Solution

7.The compound which does not exist as hydrate form


https://dl.doubtnut.com/l/_L7UBsT2vFypo
https://dl.doubtnut.com/l/_M7M76loJquMm

A. (a)ferrous sulphate

B. (b)copper sulphate

C. (c )magnesium sulphate

D. (d)sodium chloride

Answer: a

° Watch Video Solution

8. The weight of a molecule of the compoundCgyH195 is

A (a)l.4 x 10~ 2'g
B.(b)1.09 x 10~ %g
C.(c)5.025 x 10%¢

D. (d)16.023 x 10%g


https://dl.doubtnut.com/l/_M7M76loJquMm
https://dl.doubtnut.com/l/_w4EZ0BQLd87L

Answer: A

o Watch Video Solution

9. The volume occupied by 4.4 g of CO, at STP is

A. (a)22.4L

B.(b)2.24L

C.(c)0.224L

D.(d)0.1L

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_w4EZ0BQLd87L
https://dl.doubtnut.com/l/_QuRRwjqQrAku

10. How many molecules are present in one in one gram of
hydrogen?

A.(2)6.02 x 10%°

B. (b)3.01 x 10

C.(c)2.5 x 10%

D.(d)1.5 x 10%

Answer: b

o Watch Video Solution

1. The empirical formula of an acid is CH50,, the probable

molecular formula of acid may be

A. (a)C’H2O


https://dl.doubtnut.com/l/_zB6ILFnkfn1m
https://dl.doubtnut.com/l/_gHZMcjwqBvdF

B. (b)CH,0,

C. (C )02H402

D. (d)Cs HgO,4

Answer: ¢

° Watch Video Solution

12. How much water should be added to 200 c.c of seminormal

solution of NaOH to make it exactly decinormal?

A. (a)200cc

B. (b)400cc

C. (c)800cc

D. (d)600cc


https://dl.doubtnut.com/l/_gHZMcjwqBvdF
https://dl.doubtnut.com/l/_aCrAUR7z9pAq

Answer: d

o Watch Video Solution

13. What is the normlity of a 1 M solution of H3 PO,?

A. (a)0.bN

B.(b)1.0N

C.(c)2.0N

D. (d)3.0V

Answer: b

° Watch Video Solution

14. Normality of 2M sulphuric acid is


https://dl.doubtnut.com/l/_aCrAUR7z9pAq
https://dl.doubtnut.com/l/_5vuZ6mAMVm5o
https://dl.doubtnut.com/l/_qKsj4sMBGfL6

A. (a)2N
B.(b)4N
C.(c )g

N
D. (d)z

Answer: a

° Watch Video Solution

15. How many grams of a dibasic acid (Mol. Wt. =200) should be

present in 100 ml of its aqueous solution to give decinormal

strength

A. (a)lg

B. (b)2g

C.(c)10g


https://dl.doubtnut.com/l/_qKsj4sMBGfL6
https://dl.doubtnut.com/l/_LZRohq61WNVn

D. (d)20g

Answer: ¢

o Watch Video Solution

16. Vapour density of a gas is 22. What is its molecular mass?

A. (a)33

B. (b)22

C.(c)44

D. (d)11

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_LZRohq61WNVn
https://dl.doubtnut.com/l/_lSoj9kjZx04w
https://dl.doubtnut.com/l/_0iEPujcIBiIR

17. Which of the following cannot give iodometric titrations?

A (a)Fedt
B. (b)Cu?™"
C.(c)Pp*+

D.(d)Ag™

Answer: b

° Watch Video Solution

18. A compound possesses 8 % sulphur by mass. The least

molecular mass is?

A. (a)200

B. (b)400


https://dl.doubtnut.com/l/_0iEPujcIBiIR
https://dl.doubtnut.com/l/_iRoNrBE9mpcH

C.(c)155

D. (d)355

Answer: B

o Watch Video Solution

19. 116mg of a compound on vaporisation in a Victor — Meyer's
apparatus displaced 44.8mL of air measured at S.T. P. The
molecular mass of the compound is

A. (a)116

B. (b)232

C.(c)58

D. (d)44.8


https://dl.doubtnut.com/l/_iRoNrBE9mpcH
https://dl.doubtnut.com/l/_E8sEa4wZE3rm

Answer: b

o Watch Video Solution

20. The density of a gas A is thrice that of a gas B at the same
temperature. The molecular weight of gas B is twice that of A.
What will be the ratio of the pressure acting on B and A?

A 1

7
B. (b)§

c 2

1
D. (d)g

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_E8sEa4wZE3rm
https://dl.doubtnut.com/l/_ahMtEg6Itask

Assertion Reasoning Questions

1. Assertion: Analytical molarity of 1M HCl is zero.

Reason: Equilibrium molarity of 1M HC is zero.

A. (a)If both assertion and reason are true and the reason is

the true explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C.(c)If the assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_F7IoBqtHmr7c

2. Statement Addition of water to a solution containing solute

and solvent changes its normality or molarity only.

Explanation The milli-equivalent and milli-moles of solutes are

not changed on dilution.

A. (a)If both assertion and reason are true and the reason is

the true explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If the assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_K3EqpMHwIIvo
https://dl.doubtnut.com/l/_kk8yCNZQW1ky

3. Assertion: Volume of a gas is inversely proportional to the
number of moles of a gas.
Reason: The ratio by volume of gaseous reactants and products
is in agreement with their molar ratio.
A. (a)lf both assertion and reason are true and the reason is
the true explanation of the assertion.
B. (b)If both assertion and reason are true and the reason is
not the correct explanation of the assertion.

C.(c)If the assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_kk8yCNZQW1ky

4. Assertion: Molecular weight of oxygen is 16.

Reason: Atomic weight of oxygen is 16.

A. (a)If both assertion and reason are true and the reason is

the true explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If the assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_dkhVsWYRQwgR

5. Assertion: Atoms can neither be created nor destroyed.

Reason: Under similar condition of temperature and pressure,

equal volume of gases does not contain equal number of atoms.

A. (a)If both assertion and reason are true and the reason is

the true explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If the assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: ¢

o Watch Video Solution

Section D Chapter End Test


https://dl.doubtnut.com/l/_Wv8MSugVfUzJ

1. The number of meutrons in a drop water (20drops = 1mL) at
4°C

A. (2)6.023 x 107

B. (b)1.338 x 10*

C.(c)6.023 x 10%

D. (d)7.338 x 10?2

Answer: b

° Watch Video Solution

2. Assuming that petrol is octane (CsHig) and has density
0.8g/ml, 1.425litre of petrol on complete combustion will

consume


https://dl.doubtnut.com/l/_cVEn7PB2bYrJ
https://dl.doubtnut.com/l/_meREZOb2L0oh

A. (a)50 mole of O,

B. (b)125 mole of O,

C.(c)100 mole of O,

D. (d)200 mole of O,

Answer: b

° Watch Video Solution

3. Weight of one atom an element is 6.44 x 10~ **g. Calculate g
atom of elements in 40kg.

A. (a)103g atom

B. (b)10?g atom

C.(c )1O4g atom

D. (d)10g atom


https://dl.doubtnut.com/l/_meREZOb2L0oh
https://dl.doubtnut.com/l/_SEYjvUD83YHo

Answer: a

o Watch Video Solution

4. A compound contains 3.2 % of oxygen. The minimum mol. Wt.

of the compound is

A. (2)300

B. (b)440

C.(c)350

D. (d)500

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_SEYjvUD83YHo
https://dl.doubtnut.com/l/_LtwgRt09nlI5

5. Arrange the following in order of increasing mass
(i) 3.0115 x 10?® molecules of white phosphorus
(ii) 10 mole of H, gas
(iii) 1 g molecule of anhydrous NasCO3
(iv) 33.6L of CO, gas at STP

A ()it <1 < Iv < it

B. (b)iiz > v > ¢ > 1

C.(c) < i1 <iv < it

D.(d)i < tv < 991 < 4%

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_4x2fNnUJRDWq

6. Calculate the number of oxalic acid molecules in 100 mL of 0.02

N oxalic acid

A. 6.023 x 10%°

B. 6.023 x 10*

C.6.023 x 10*?

D.6.023 x 10%

Answer: A

o Watch Video Solution

7. Arrange the following in order of decreasing mass
(i) 1TF atom

(ii)) TN atom


https://dl.doubtnut.com/l/_vvxmqRQBR5wz
https://dl.doubtnut.com/l/_2cBLvEFUiogS

(iii) 1 O atoms

(iv) TH atom

A (@)t > 111 > v > it

B.(b)iv < 11 < 111 < 1%

C.(c)i > i1 > 11 > v

D.(d)iit > i > i1 > v

Answer: ¢

o Watch Video Solution

8. The number of millimoles contained in 0.160 g of NaOH is

A. (2)0.04

B. (b).4

C.(c)4


https://dl.doubtnut.com/l/_2cBLvEFUiogS
https://dl.doubtnut.com/l/_taf9tUslg9V1

D. (d)40

Answer: ¢

o Watch Video Solution

9. Number of mole of 1m? gas at NTP are:

A (a)324
B. (b)54.6
C.(c)446g

D. (d)28.2

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_taf9tUslg9V1
https://dl.doubtnut.com/l/_Fo0l9E5AoVEK
https://dl.doubtnut.com/l/_oqvUBL6axtJl

10. 0.5 g of fuming sulphuric acid (HySO,4 + SOs3), called oleum,
is diluted with water. Thus solution completely neutralised 26.7 "
mL of " 0.4 M NaOH. Find the percentage of free SO; in the
sample solution.

A. (a)30.6%

B. (b)40.6%

C.(c)20.6%

D. (d)50%

Answer: ¢

o Watch Video Solution

11. The minimum quantity of H5S needed to precipitate 64.5 g of

Cu*" will be nearly.


https://dl.doubtnut.com/l/_oqvUBL6axtJl
https://dl.doubtnut.com/l/_pO8DwWW1IH8G

A (a)635¢g

B.(b)31.75 g

C.(c)34g

D.(d)20¢g

Answer: c

° Watch Video Solution

12. 34g of H50, is present in 1120ml of H5O solution. This

solution is called.

A. (2)10 volume solution

B. (b)20 volume

C.(c )30 volume

D. (d)32 volume


https://dl.doubtnut.com/l/_pO8DwWW1IH8G
https://dl.doubtnut.com/l/_KDeBk0CoLCz8

Answer: a

o Watch Video Solution

13.1.82 g of a metal required 32.5 mL of N-HCl to dissolve it what

is the equivalent weight of metal?

A. (a)54

B. (b)56

C.(c)28

D. (d)86

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_KDeBk0CoLCz8
https://dl.doubtnut.com/l/_cNyv8d9HHbiD

14. What volume at ST'P of ammonia gas will be required to be
passed into 30mL of 1NH,50, solution to bring down the acid
normality to 0.2N?

A. (a)556.5m L

B. (b)480.5m L

C.(c)b537.6mL

D. (d)438.4m L

Answer: ¢

o Watch Video Solution

15. How many grams of NaH S0O3 will be required to react with
one litre of NaIOj3 solution containing 5.8 g NalO3 according

to the reaction?


https://dl.doubtnut.com/l/_0C2WCAQ9n6jt
https://dl.doubtnut.com/l/_JQ5DMoLYqZ7m

A.(a)102 g

B.(b)98 g

C.(c)914 g

D.(d)82 g

Answer: c

° Watch Video Solution

16. A 5.0m L of solution of Hy0, liberates 0.508¢g of iodine from

acidified KT solution. Calculate the strength of HyO, solution in

terms of volume strength at ST P.

A. (a)2.2%

B. (b)3.8%

C.(c)4.48%


https://dl.doubtnut.com/l/_JQ5DMoLYqZ7m
https://dl.doubtnut.com/l/_RsWDW1P4uAkH

D. (d)None of these

Answer: ¢

o Watch Video Solution

17.1.5 litre of a solution of normality N and 2.5 litre of 2 M HCl are
mixed together. The resutant solution had a normality 5. The
value of N is

A. (a)6

B. (b)10

C.(c)8

D. (d)4

Answer: b

| o Wabkl. \tdaa ..t aa



https://dl.doubtnut.com/l/_RsWDW1P4uAkH
https://dl.doubtnut.com/l/_ggbJtbHf5BkN
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18. The volume of 0.25 M H3PQOs5 required to neutralise 25 ml of
0.03 M Ca(OH), is

A. (a)1.32 mL

B. (b)3 mL

C.(c)26.4 mL

D. (d)2.0 mL

Answer: b

o Watch Video Solution

19. A 0.1097g sample of AsyO3 requried 26.10mL of KMnOy,

solution for its titration. The molarity of KMnO, solution is


https://dl.doubtnut.com/l/_ggbJtbHf5BkN
https://dl.doubtnut.com/l/_pBEMXvKPGz4R
https://dl.doubtnut.com/l/_geDbfL9rDwbR

molarity = 0.017M =~ 0.018

A. (a)0.02

B. (b)0.04

C.(c)0.018

D.(d)0.3

Answer: ¢

o Watch Video Solution

20. Borax in water gives
B0} + TH,O — 4H3BO; + 20H ~
How many grams of Borax (NayB4O7. 10H,0) are required to

prepare 50 ml of 0.2 M solution.

A.(a)032g



https://dl.doubtnut.com/l/_geDbfL9rDwbR
https://dl.doubtnut.com/l/_oCKUARnUzpKf

B.(b)3.82 g

C.(c)0.28¢g

D. (d)None of these

Answer: b

° Watch Video Solution

2. 50 mL of a solution containing 1 g each of
Na;CO3, NaHCO3 and NaOH was titrated with N-HCl. What
will be the titre reading when only phenolphalein is used as
indicator?

A. (a)35 mL

B. (b)32.5 mL

C.(c)24.5mL


https://dl.doubtnut.com/l/_oCKUARnUzpKf
https://dl.doubtnut.com/l/_wTEYKeaoL1Ux

D. (d)34.4 mL

Answer: d

° Watch Video Solution

22. Density of water at room temperature is 1 g/ml. How many
molecules are there in a drop of water, if its volume is 0.05 ml?
A.(a)1.67 x 10%
B. (b)16.7 x 10*
C.(c)6.023 x 10%

D. (d)1.67 x 10%

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_wTEYKeaoL1Ux
https://dl.doubtnut.com/l/_x81pXcxaTc4u

23. How many molecule are present in 12 L of liquid C Cl? The
density of the liquid is 1.59 g cm ~3?

A (a)7.44 x 10%°

B. (b)0.74 x X10%

C.(c)1.59 x 10%°

D. (d)15.9 x 10%¢

Answer: b

° Watch Video Solution

24.13.4¢g of a sample of unstable hydrated salt Nay,SO4. XH,0
was found to contains 6.3g of HyO. The number of molecular of

water of crystalistion is


https://dl.doubtnut.com/l/_oUi4RMDPOERr
https://dl.doubtnut.com/l/_pHYCVJDwap62

A. (a)6

B. (b)5

C.(c)7

D. (d)8

Answer: C

° Watch Video Solution

25. A solution containing NasCO3 and NaOH requires 300ml
of 0.1INHCI using phenolphthalein as an indicator. Methyl
orange is then added to the above titrated solution when a
further 25ml of 0.2NHCI is required. The amount of NaOH

present in solution is (NaOH = 40, Na,CO3 = 106)

A (a)06 g


https://dl.doubtnut.com/l/_pHYCVJDwap62
https://dl.doubtnut.com/l/_I1v9tv8Kcl87

B.(b)1.0 g

C.(c)n5g

D.(d)20 g

Answer: b

° Watch Video Solution

26. The amount of water that should be added to 500 ml of 0.5 N

solution of NaOH to give a concentration of 10 mg per ml is

A. (a)100

B. (b)200

C.(c)250

D. (d)500


https://dl.doubtnut.com/l/_I1v9tv8Kcl87
https://dl.doubtnut.com/l/_WVSN10PzoXsZ

Answer: d

o Watch Video Solution

27. 100gCaCO3 reacts with 1litreINHCI. On completion of

reaction how much weight of CO5 will be obtain

A.(a)55¢g

B. (b)11 g

C.(c)22g

D.(d)33 g

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_WVSN10PzoXsZ
https://dl.doubtnut.com/l/_MEGp12ubEHJN

28. Assertion: For calculating the molality or the mole fraction of
solute, if the molarity is known, it is necessary to know the
density of the solution.
Reason: Molality, molarity and the mole fraction of solute can be
calculated from the weight percentage and the density of the
solution.
A. (a)If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. (b)If both assertion and reason are true and the reason is
not the correct explanation of the assertion.

C. (c)If the assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: b

| ° Watch Video Solution


https://dl.doubtnut.com/l/_wod8kGmmIDfm

29. Assertion: As mole is the basic chemical unit, the
concentration of the dissolved solute is usually specified in terms
of number of moles of solute.
Reason: The total number of molecules of reactants involved ina
balanced chemical equation is known as molecularity of the
reaction.
A. (a)If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. (b)If both assertion and reason are true and the reason is
not the correct explanation of the assertion.

C.(c)If the assertion is true but reason is false.

D. (d)If assertion is false but reason is true.


https://dl.doubtnut.com/l/_wod8kGmmIDfm
https://dl.doubtnut.com/l/_JshwyEuExNP9

Answer: b

o Watch Video Solution

30. Assertion: Isomorphous substances from crystals of same

shape and can grow in saturated solution of each other.

Reason: They have similar constitution and chemical formulae.

A. (a)If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. (b)If both assertion and reason are true and the reason is

not the correct explanation of the assertion.

C. (c)If the assertion is true but reason is false.

D. (d)If assertion is false but reason is true.

Answer: a


https://dl.doubtnut.com/l/_JshwyEuExNP9
https://dl.doubtnut.com/l/_9hr7rBVn2WP4

o Watch Video Solution



https://dl.doubtnut.com/l/_9hr7rBVn2WP4

